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1. For the 1* time, which State will host 14th Global
healthcare summit in 2021?

(A) Madhya Pradesh  (B) Kerala

(C) Andhra Pradesh (D) Gujarat

2. Where was the 36th biannual ASEAN (Association
of Southeast Asian Nations) Summit held via video
conference in June 2020?

(A) Thailand (B) Vietnam

(C) Indonesia (D) Laos

3. Who is appointed as the new chairman of UPSC?
(A) N. K. Singh (B) H. L. Dattu

(C) Sharad Arvind Bobde

(D) Pradeep Kumar Joshi

4. Which country bagged the first spot in the Human
Freedom index 2020?
(A) New Zealand

(C) Denmark

(B) Finland
(D) Sweden

5. In December 2020, who has been named the
head coach of Nepal cricket team?

(A) Jamie Siddons (B) Dav Whatmore

(C) Bob Woolmer (D) Trevor Chappell

6. Who is the CEO of UIDAI?
(A) Shri Pankaj Kumar (B) Nandan Nilekani
(C) Ajai Chandra (D) RS Sharma

7. “State of food and Agriculture Report 2020” is
published by:

(A) United Nations.-Werld Food Programme

(B) Food.and Agriculture Qrganization

(C) United.Nations Standing Committee on Nutrition
(D) World Health Organization

8. In December 2020, which of the following has
introduced #GotYouCovered campaign?

(A) Life Insurance Corporation

(B) United:ndia-Insurance

(C) Star Health and Allied Insurance

(D) Bharti AXA Life Insurance

9. Which of the following has announced the launch
of digital gold on its platform in October 2020?

(A) Mobikwik (B) Freecharge

(C) BharatPe (D) Amazon Pay

10. Nirbadh initiatives, recently in news is launched
by

(A) NITI Aayog

(B) Ministry of Consumer Affairs

1. U8l 9R, PHF—T IoY 2021 F 144 NG
TReY AT B AT HRIT?

(A) 79 Ue9T (B) BRA

(C) 3Ter ueeT (D) oI

2. 5[ 2020 % Aif$AT HIFBRIT & AAH | 3641
gfaariie ASEAN (THIRITEH i arsuste TR
“eiv) RER R $al Eford fear mar er?
(A) ATt (B) fagqr

(C) S (D) <M

;umc%wm&w%wﬁﬁrﬁﬁgﬁamw
?
(A) T, . RiE

(C) IRT 3RfdT diEe

(B) Ta.UA. &L
(D) U<TT HFAR el

4. 999 WAl qAFIS 2020 H fHH T Y gger
@ fer?

(A) =geiTcis (B) fthTels

(C) ST )ESISE]

5. iR 20204, &4 “ure frae dW &1 §&
P Aifaa forar @ 82

(A) o Rrs=1 (B) ST ®TcHR

(C) 919 qR (D) $oR_AYt

6. UIDALS WS &1 &7
(A) T Gl AR (B)Fe el
(C) 3r91g TaT (D) TR T 94T

7. @y IR Y Rerfa R 2020" &1 ymeH
e gam far Tar 27

(A) Gga I e @ HriHA

(B) WTed 3R B HTe=

(C) YT IR YA I D IR FAfT

(D) fava w@m™eg HieH

8. fasR 2020 ¥, fA=iforRaa & 9 faw
#GotYouCovered I o f&Har 87
(A) Stlad §r7 =

(B) ITgcs Sfear ST

(C) R BT US UdlSS S¥ANA

(D) HRTI UAT 8% SIANH

9. 3racg 20204, =1 3§ & fpem o wiewid W

fefiee Mes divg & @) =N 3 27
(A) AIfdfereren (B) WISt
(C) ARy (D) 3FSH U

10. A & FATARI A &9 dra ety ugar o
goea ffafad § 9 fdae qarT o = 87
(A) T 3mART

(C) Employees’ Provident Fund Organisation (B) SUHTT AT BT W
(D) Ministry of Agriculture (C) = é_ GIGIEEIDEEIRE
D ERKEISE)
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11. Which among the following was the theme of
Earth Day 2020?

(A) Saving Earth each day

(B) Nature calling

(C) Facing new challenges

(D) Climate Action

12. In which year did UNESCO include Yoga in its
Intangible Cultural Heritage list?
(A) 2016 (B) 2014
(C) 2018 (D) 2015

13. Exercise INDRA is a tri-exercise between India
and-

(A) Russia
(C) UsA

(B) France
(D) Australia

14. Choose the Correct pair:

Exercise Country

A. Kavkaz India-Russia

B. Lamitye India-Indonesia

C. Ekuverin India-Maldives

(A) Only A (B)AandC
(C)Only C (D) None of these

15. Indian Coast Guard Interceptor Boat got
commissioned in December 2020 in which state?
(A) Goa (B) Gujarat

(C) Tamil Nadu (D) Odisha

16. Sriharikota is a barrier island located off the
coast of Bay of Bengal in which among the following
states in India?

(A) Andhra Pradesh
(C) Karnataka

(B) Kerala
(D) Tamil Nadu

17. Kapildhara falls is/located in which of the
following states of India?

(A) Orissa (B) Tamilnadu

(C) Madhya Pradesh (D) Himachal Pradesh

18. Which of the*following places harness the wind
energy efficiently in India?

(A) Nagercoil and jaisalmer

(B) Jodhpur and Ajmer

(C) Ajmer and jaisalmer

(D) jaisalmer and Jodhpur

19. Given below are states/Union territories and
their current or future Capitals.

Select the mismatched pair.

(A) Dadra and Nagar Haveli and Daman and
Diu-Daman

(B) Manipur - Imphal

(C) Meghalaya - Kohima

(D) Andhra Pradesh - Amravati

11. 379 ¥ oAl fiaw 2020 &1 fawg @19 4T or?

(A)JfdT T ST (B) TAR BifelT
(C) BRI = Tefod (D) FellgHe TR
12. T 71 fore 99 & AT BT G SR
Aigpiae fRmad @ § wiaa fear?
(A) 2016 (B) 2014
(C) 2018 (D) 2015
13. 3MIT INDRA MR 3R ® 1 Th
3—ar s ®
(A) 4 (B) 1
(C) USA (D) aifvgferan
14. 98 SIS B =TT BT
T <9
A. BT ARI—6d
B. oA TRA—S ST
C. UgpdRA YRA-HAleTald
(A) BacT A (B)A 3R C
(C) Baet C (D) 37 & P el

15. 3T BT TS ISRITX dic. B g =g o
fageR 2020 9 HHIE fHar TAT?
(A) TraT (B) JoIIa
(C) dfferrS (D) enfsam

16. sNERPIeT 1 & @< 3 fFIR Rerd v
IR ho & S 9Ra & fora wsw § Rera 77
EEE (B) B

(C)®dlcH (D) Tffrerrg

17. SROTIRT TavuTd ¥R @ =1 ¥ ¥ 59 =g
¥ Rera 87

(A) ST (B) afirerTg

(C) 7 v (D) AT wewr

18. fF=foRaa § 9 &9 ¥ I 9Rd § ya9 ol
BT HIAAYdD SUIRT A &7

(A) ATRBIRIS 3R STRATHR

(B) TTHYR 3IR 3SR

(C) IOTHR 3R SIRTeT™R

(D) SITR 3R SIgR

19. T FB TSY / Dx AR U< AR S0
Jau T 9 ot € T €| ¥ S &1
TIT BN |

(A) TTERT 3R TR &Jell IR T &R <Ig—aH
(B) AMTYR—S¥hTc

(C) HETTI—pIfRHAT

(D) 3T U< — STARTACH
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20. Which one of the following states receives the
highest rainfall during winter months?

(A) Mizoram (B) Uttarakhand

(C) Tamil Nadu (D) Bihar

21. Which state produces the highest quantity of
gold in India?
(A) Karnataka
(C) Jharkhand

(B) Kerala
(D) Odihsa

22. Name the river which is a reason of dispute
between India and Bangladesh?

(A) Teesta (B) Brahmaputra

(C) Ganga (D) None of these.

23. Which of the following book is not written by
Rebindra Nath Tagore.

(A) Kabuliwala (B) Gora

(C) Gitanjali (D) Goddan

24. Phobos and Deimos are satellites of which
planet?

(A) Mars (B) Mercury

(C) Venus (D) Uranus

25. Which of the following economic activities
comes under primary sector?

I. Banking

Il. Dairy

lIl. Transport

(A) Only | (B) Only I

(C) Only 1 (D) Both I & 11

26. Which of the following sectors is also called a
service sector?

(A) Primary sector
(C) Tertiary sector

(B) Secondary sector
(D) Quaternary sector

27. The Panchayati Raj System is divided into how
many.levels of governance?
(A)1 (B) 2
(€)3 (D)4

28. Who wa the son of the Mauryan emperor
Bindusara?
(A) Ashoka
(C) Bimbisara

(B) Chandragupta
(D) Azaat Shatru

29. Where did Salt March end?
(A) Dandi (B) Surat
(C) Ahmedabad (D) Sabarmati

30. Which is the nearest star to Earth?
(A) Pole star (B) Sun
(C) Dog star (D) Sirius

20. A= & | @9 &1 wog 9fdal @ aAi o
IuT YT DRl 87

(A) iR (B) STRTES

(C) affrerrg (D) feR

21.9RT H 59 = # 99 e QAT S
BIaT 87

(A) BHTCH (B) B

(C) SRES (D) 3nfsem

22. 99 T4 BT F9F T §, S 9Rd IR ey &
= Qg &1 HROT 8?2

(A) I (B) SEHYA

(C) T (D) ST & Bl &I

23. fr=iforfaa & & @ 4 gxe Wik T CAR
TarT foRaa =&f 82
(A) BTgAaTT (B) TRT

() farsifer (D) e

24. HIEN R SN 59 I8 @ SuuE €7
(A) "1 (B) g&1

(C) g (D) 30T

25. fF=foraa & 9 @9 < anfdfe wfafaferr
yIffe 8= # il 57

. S

. ST

. Eigae

(A) DIt (B) pae II

(C) Haat Il (D) 13T 11 g4

26. fF=1foiRaa & 9§ 5= &1 & Aar &3 9 war
ST 87

(A) TrIfis &= (B) Areufid &

(C) T &3 (D) g &=

27. GARIH TS YTl 1 9 @ fbaq ™l |
fawfora forar T 27

(A) 1 (B) 2

(€3 (D) 4

28. 914 wure fdgER &1 g3 3 o1?
(A) 3r2Ten (B) T
(9REIESKIN (MESIGRE
29. 9% IIAT Hel FHT g AP

(A) ST (B) XX

(C) SrEHeTETS (D) TG
30. 2 & We fAdedd anT 3 27
(A) ga aRT (8) ¥

(C) SRT ART (D) Rz
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31.

Drawing Characteristic
A. | Large Scale map | 1. | Drawing drawn to cale
B. | Sketch 2. | Gives more nformation
C. | Plan 3. | Drawing drawn without

scale

(A) B-2, C-3,A-2 (B) A-2, B-3,C-1
(C) C-2,B-3.A-1 (D) C-2, B-1, A-3

32. What is pollination?

(A) The transfer of pollen grains from an anther to
the stigma of a plant

(B) The germination of pollen grains

(C) Visiting of flowers by ants

(D)The growth of pollen tube in the ovule

33. Name the blood cells which are found are found
in abundance in the human body.

(A) Red blood cells (B) Platelets

(C) Blood proteins (D) White blood cells

34. Sound is produced by a body only if
it

(A) made of steel
(C) made of strings

(B) made of hollow wood
(D) vibrating

35. Which of the following is a format of storing the
image in computer?
(A) .bmp

(C) .jpg

(B) .png
(D)-All of the above

36. In the following question, select the related
letters from the given alternatives.

JN:QU::DH:?
(A) LK (B) LM
(C) KO (D) YA

37. In the following question, select the odd letters
from the given alternatives.

(A) CEH (B) JLO

(C) RUW (D) Uwz

38. In the following question, select the missing
number from the given series.

5, 20, 70, 210, 525, ?
(A) 965

(C) 840

(B) 1050
(D) 12820

39. Pointing to a lady, Anup said, “She is the only
daughter of the lady who is the mother of my
mother’s only grandson”. How is the lady which is
pointed related to Anup?

(A) Daughter (B) Wife

(C) Sister (D) Mother

31.
IEECIN fa=ar

A. | g TE @1 1. | ¥ BA B folt TR

EIBICE] IR
B. | bd 2. | 319 IFHRI adT ©
C. | wm 3. | foeT e @ ST
(A) B-2, C-3, A-2 (B) A-2, B-3, C-1
(C)C-2,B-3. A1 (D) C-2, B-1, A-3

32. TR0 T B?

(A) U & WRETHIY T RETHON BT ARV
(B) IRTTHUT T JHRRI

(C) =iifeal TaRT el IR =ref=T

(D) 3 ﬁ'tﬁﬁﬂ'fﬂ{ﬂ @1 gfg

33. 99 IR ¥ " q¥d Uit M arell Y
PIRBT BT A1 A9 |

(A) SfTeT Xad BIABT  (B) e

(C) Y&t UIeA (D) W< ad HIRADT

34. €] ART &1 dad T ScTfad skl & dfa
98 dad gl

(A) T I & =/l

(B) WRISN AIbS! I 9] B

(C) ART | & &

(D) BU- X &l Bl

35. fFEfefad § 9 39 $YeR § 99 &1 R
B BT BHC o7

(A) .omp (B) .png

(C) .jpsg (D) SURTeRT HI

36. f=foiRaa uyem & Ry v el & ¥ Hefda
¥ P gAY |

JN:QU::DH:?

(A) LK (B) LM

(C) KO (D) YA

37. ffeRad wea d Ry v Rt § ¥ faww
JERT B gAQ |

(A) CEH (B) JLO

(C) RUW (D) Uwz

38. fr=iforiaa oo #, Ry T o/ & q@ G
BT 7T N |

5, 20, 70, 210, 525, ?
(A) 965

(C) 840

(B) 1050
(D) 12820

39. U% ARl &) AR ssnvra%aﬁg;g,s&gq 3 el
"8 S99 Al P THATH 9T & O A °f D
THAA Ui B A 87 | 3IRT fRY gY Afden 9 g
BT T e 2°

(A) 9 (B) gl

(C) I8 (D) Hrar
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40. In a certain code language, “CROWN” is written
as “DTRAS” and “BLEAK” is written as “CNHEP”.
How is “STUMP” written in that code language?
(A) SUMPT (B) vuwaQT

(C) TUWQT (D) TVXQU

41. Which answer figure will complete the pattern
in the question figure?

(A) (B) (©) (D)

42. Identify the diagram that best represents the
relationship among the given classes.
Rose, Flower, Stone

Q0| | ||B

(A) (B) (€) (D)

43. Three position.of a cube are shown below. What
will come opposite to the face containing ‘R’?

40. 7% faRre @e w1 #, “CROWN” I “DTRAS”
for@T ST & TR “BLEAK” &1 “CNHEP” forar mar
2| SH T 9T H “STUMP” &1 5T IR foran
SRITT?

(A) SUMPT
(C) TUWQT

41. 919 A IR ARG UH MG @ ufowy Bt
TRT HAT?

(B) vuwaQT
(D) TVXQU

(A) (B) (€) (D)

42. fau ani ¥ el @ 99 gk BT 9 g3
TTAT TR, ST DI |

D

OolfCD

@)

O

(A)

(B)

(€)

(D)

43. 50 g9 A O Raferf & T 2 Hag R’ D

/ B/ Y X
R w R B

(A) B (B) Y

(C)W (D) X

44. How many squares are there in the given figure?

(A) 18
(C) 16

(B) 17
(D) 19

fada <= B e

B Y X
R[9 |wl]R B [C
(A)B (B)Y
(Qw (D) X

44. 9 T ar@fa 7 fam &= &7

(A) 18
(C) 16

(B) 17
(D) 19
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45. Read the statement and select one of the
conclusions from the given alternatives.

Statement:

In order to improve the teacher-student ratio in rural
and urban areas, the state government has agreed in
principle to approve more number of posts of
secondary school teachers.

Conclusion:

I. The student-teacher ratio in urban areas is higher
thanin rural areas.

Il. The student-teacher ratio in rural areas is higher
than in urban areas.

(A) Only conclusion | follows.

(B) Only conclusion Il follows.

(C) Either I or Il follows.

(D) Neither | nor Il follows.

46. Read the statement and select one of the
conclusions from the given alternatives.
Statement:

The use of renewable sources of energy will end the
energy crisis in the world.

Conclusions:

I. Modern technology is gradually replacing the non-
renewable mode of energy.

Il. Excessive exploitation of the environment is
responsible for creating a shortage of non-renewable
sources of energy.

(A) Only conclusion | follows.

(B) Only conclusion Il follows.

(C) Either | or Il follows.

(D) Neither I nor Il follows.

47. Consider the following information:

P means ‘multiply by’, T means ‘subtract from’, M
means ‘added to’ and B means ‘divided by’, then
find the value.of the following.
28B7P8T6M4=2?

(A) 30 (B)32

(C) 34 (D) None of these

48. Use the following passage for the questions
basedon it.

Rahul and Kusum are good in Hindi and Maths,
Sameer.and.Rahul are good in Hindi and Biology.
Gita and Kusum.are.good in Marathi and Maths,
Sameer, Gita and Mihir are good in History and

Biology.

Who is good in both Biology and Marathi?
(A) Gita (B) Kusum

(C) Sameer (D) Mihir

49. A, B, C, D and E play Hockey. 3 players from
Hockey were selected to form Team 1.

I. A is always selected.

Il. Exactly one among B and C is always selected
11l. D will not participate if B is selected.

IV. E will not play with C

Which among the given option is a possibility of
team to be selected?
(A) ABE

(C) BEC

(B) ADE
(D) ADB

45. I fey IR Ry v e § ¥ v ey
aﬂ=auﬂifmaq

Waﬁ?mﬁﬁﬁﬁw—wa—ﬂmﬁﬁ

P ol I WReR A "eafie faered @ Rieted &
Ual PI AfH @A BT HoRI a1 B ol dgii~Id
Egigg'ﬁEﬂﬁé'érél

1. I erAl H BrE—Ried rguTd, UrivT &3l B

i ¥ afds 2| .

Il 3T &3 H BTE—Ried U, e &l B
LECIEED

g =

(A) Badl ey | BT 2 |

(B) act fIshY 11 STTARYT &Rl B |

(C) am ariari BT 2 |

(D) T AT I 3R AT B 11 ITART HaT 2 |

46. I Ufey IR Ry v el § W v =y
BT =TI PIATC:

BT
ol & AU AT BT STANT Gl H SHoll &
NG aﬁ'ﬂﬂra BT |

eﬂgﬁﬁﬁ URNfAT® TR—R Solf & dIHRoNa
G 9 TE o W& R
11, TITIROT BT TS YO Soll & SIIAIBRUINY

grdi & HE AT e & o SR B
(A) DHael TshY | TTEROT BT & |

(B)@act fApY || QT IRT G$Rﬂ'§l
(Cyarariani aﬁaﬂ =
(D) 7T QISR AT &I 1 ITARVT HCT & |

47. ﬁFﬂﬁ?ﬁHﬂ SHARNY TR fdaR HIfTe:
Paﬂ'SHﬁ HYT 2 TH 3 A gSHr 8, M
aﬂ'aﬁﬁ "R BT af | IR FAT
2 a1 FrafeRad &1 919 Ia1=sy |
28B7P8T6M4=?

(A) 30 (B) 32

(c)34 D)gﬂﬁ'@'aﬁé T8I

48. {1 ey P MR R 9 U B SR
AR |

?@ETGﬂY azgg'ﬁﬁﬁ R T ¥ aes § 9iR ek
TR oY AR Siafdem § oo | iy 3R aad
RIS 3R TG 3 o/ & | iR, Mar ok fAfey
gfoerN 3R Shafdsm & o g1

Shafes™ iR wRS éﬁﬂ'ﬁ'@'&ﬁaﬂ P 87

(A) 3frar (B)

(C) TR (D)

49. A, B, C, D 3R EEP! Wed € |8 & 3
R 1 S 13 forg 3T T |

L. af B YT g3 Y D W &} o |

iy ¢ foen 7 & 39 @ <9 g I\ B
U

(A) ABE (B) ADE

(C) BEC (D) ADB
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50. Direction: In these questions select the related
letters/word/number from the given alternatives:
Cloud : Rain::?

(A) Moon : Sky (B) Fire : Smoke

(C) Children : School (D) Shoe : Polish

50. faqe: fa=faRaa uea #, fay v faseai & 9§
T 3R /I8 /=T BT T BN |

qreel 9uf :: ?

(A) TSHT : ITDTI (B) 3T : o

(C) &=l : el (D) 37 : diferr

ANSWER KEY

1.(C) 2. (B) 3.(D) 4. (A) 5. (B)
6. (A) 7. (B) 8. (D) 9. (C) 10. (C)
11.(D) | 12.(A) | 13.(A) | 14.(B) | 15.(B)
16.(A) | 17.(C) | 18.(A) | 19.(C) | 20.(C)
21.(A) | 22.(A) | 23.(D) | 24.(A) | .25.(B)
26.(C) | 27.(C) | 28.(A) | 29.(A) | 30.(B)
31.(B) | 32.(A) | 33.(A) | 34:(D) | 35.(D)
36.(C) | 37.(C) | 38.(8) | 39.(A) | 40.(D)
41.(B) | 42.(A) | 43.D) | 44.(B) | 45.(D)
46.(D) | 47.(A) | 48.(A) | 49.(A) | 50.(B)
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fAader (1-7): I A T T BT UgHR 37 YIAI
P IR T —

S iR A2 R¥R U g & fa41 e =181
Thd | AEIDR Sl DI AFRTD &ET bl <
PP S0 el e § wre b SR PBrar 2
AR B 4T 9% & — Siad | Afecd ST &
Tear vfafew €, O gfieMeR T8l IfRtdar
forgar & | A9 Siad FESt 3 ST 86T © 31
AT ATfecd ¥ | Aifeer &1 Rear fraar afad
B, ST B |Hite | |t § IR Siad Bl
Tedrs & AT A fhar oar 2 | AifiRcer
YR H TFAT TR BHRAT| S BT ARAAD W9 B
e § gfafewd giar 2|

1. UK TRl HT Sugaa s Fa1 SR1?

(A) TR (B) OIRIHR &I a1
(C) ST &R &g (D) Wiz &1 fawg—awg
2. Oit®R &1 Rear feaw 87

(A) fd & (B) THfe

(C) 57 <l | (D) 7% A BIS &I

3. IIRISR U =TT BT IR Bl A T
AT 8?

(A) ST QIR sad gRRufaal &

(B) LT &

(C) HeU=T |

(D) 31U+ A9 9

4. OGS D_ATAR SilaT Bl Fear Ufafe Hef
oo 8?

(A) ST H
(C) =T H

(B) wfey #
(D) P8l T8I

5. AR B ITAR WRZITDR. T AT
Hel 87

(A) 31T BT DI Il F I &

(B) ST oI ARAD &N & T« Hval 2

(C) ST T T BRI BT § Sir R 2
(D) TS @7 fafdr Rxarar &

6. AR’ g BT fael® Far BT?
(A) fte (B) wfart
(C) AT (D) <

7. "7 ST GHS ¥ ST § 3R wu At
J* I 39 ¥ W 59 yHR &1 9T 27
(A) STEMROT TR (B) AR T
(c) faf¥a aram (D) &R dATHRT

fder (8-14): 0 A N TEY BT yeHR A
U B SR AT —

31T AHa Sae &7 Fad 3 2| 3 & AER &
AT g—9< JRATGdS B HR TorRdl & | T8
3T FST BT B B B RO el B | ST Y
FAT IS HET TAT &, R M & FIgd W
fART RIS BT TRE XTST HRAT & | SITMET 3MEH
HHUY &l BT AHhdT | 98 Hfod A i Rerfa #
AT TTeiel YEdT B | 3 iR favas & 9 W
AT ¢ 9 9T B IR AHhal 2 | FRren @fad o
JIHR P! TG of STl & | T AQd IMemar =
g1 =1 |

8. A Siia< &1 HaR GF 34T 87

(A) 3frem (B) fo=Tem
(C) 3T (D) =T
9. ATET AT T T RO <L B2
(A) 98 BT DI (B) BH B B
(C) T Bfhrl Bl (D) 3BT WM &

10. 3ITT BT TIdI XIS Bal AT 5 FIP —
(A) JMTIT & ol TR IMMEHI RIS IRl ©

(B) 3T AfdRT Bl XIS T <l &

(C) &2 ® et BIAT B
DERESEESEEENE

11, DT AfRT BT TS BT Hpar?

(A) FeRTeITaTE (B) SUTH

(C) = (D) SremaTs

12. 599 TENY &1 SuPad Mves 8-

(A) 98TGR Hfed (B) BTIR afed

(C) ST Hfda (D) FRTeMETST Al
13. ‘FHIY’ BT AT g 2—

(A) HHIY (B) U

(C) FHTst (D) BB

14. 99—93 ¥ 3—

(A) 5T s @1 fgwin
(B) AT e @Y fgwih
(C) fazior vt 1 fgwfth
(D) fspaam vreg 1 T
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ﬁ'q‘sT(ls 21): < A T TEE B UgHR A

gRCll DI GraxaH BR Bl FAAT H
3R 31T ST 37T arell |fedl
X TSGRl BT SER P |

15. 59 BIATY BT Sfd M a1 & weba 87
(B) <df @I e=ah
(C) Tt (D) &R TR @t

16. 99X 7 R BT WY DA HART ?
(A) HHAT ¥ (B) T T TN
(C) Bl Raerrans (D) 31k IRSH HRb

17. IO 9T & Hfq BT w7 AU 8?
(A) oy w1fora =21 amrar

(B) ST TIforeT &1

(C) s f=eY =1 81 9%

(D) S e & I &1

18. ‘HHAT e ATHRO] § T 872

(A) STTfcdTers s (B) WiadTedh sl
(C) qerarae faRiyor (D) A

19. ‘¥ HI9—9T FITH &7

(A) go¥dTerd (B) frotarae

(C) TP (M SEEREIEED
20. 1" BT [deli 2~

(A) GRelt (B) @il

(Q) T& (D) 378 & Pl ol
21. SER’ BT YIRATE 8—

(A) g (B) Zfdsi

(C) Scuid (D) b

22. ‘g8 BT T et 8?

(A) 3Hqd (B) IAR

(C) fay (D) AT

23. ‘Bt Sl AT F HH— 35 vfdd vH
PR N 27

(A) 3rfaerm (B) Aegom

(C) =TT (D) A =T

24. 39 HfAAT & ST 99 28—
(A) Ifaa | arfiar gF7 anfeu
(B) < UH &I WIA-T §&d H I

(C) TR HIfed oRa=l & ST~ Bl = |

(D) SWa H ¥ UH 1 7RI

25. faoTell &1 gIigar) g 8] 2—

(A) faga (B) wraTfaht
(C) werdTeT DEERI
26. TR—NI § B9 91 G 87
(A) g2y (B) pHEIRY
(C)EF (D) f&

27. iR @ sfoeN—aay & 999 ugan
TN e faar?

(A) TRIT—g—ar CSISRPELE]

(C) SR DR (D) Rraf¥s Wit

28. ‘SHIGR—G—olT fIRR T8 Q " A
= aifey @ sfoey o~ @ o s
NISRPESE (B) T

(c) faferaw a<wadd (D) IR

29. AT BT HIE D oGD &—
(A) Sf. TSR 919
(EENESINET

(C) BrHaT UETE T[S

(D) fPeIRIeT qToTuil

30. T WA= YA A U S T GAT 5
A ®9dF FEiRa fear 87

(A)1800 3 1850 .  (B)1850 %1885 S.

(C) 1857 %1 1900 8. ~ (D) 1868 J°1893 S.

31. ‘IrRad]. D TGDH o
(A) et st (B) AT <ret
(C) o] <llad (D) SeMRTeelT Wi

32. Yo o) wiftw & sfe & Ao g9’ &
M e @ AR 8-
(A)wa&ﬂwﬁﬁieﬁ?ww@wwwﬁ-l%
(B) 3ot Rravare RaR R @R o1 Ao
PRICERH

(C) o1 ewT Rig iR <ot Rravdre Rar fiwe
(D) SH | @Is 1 T2 |

33, ‘INfeBIT B ‘ARG’ HET &—
(A) e fawasrer gare fAst
(B) Sf. IHFAR AT

(C) st &g

(D) GA o

34. MReT—favra fraer g Tes 27
(A) TRET Fgar (B) TR
(C) faemufa (D) MYrer=

35. fahTe &1 TFI G /T 2?
(A) aq 1275 | Haq 1700 TH
(B) Haq 1285 | Haq 1700 TP
(C) |aq 1375 ¥ Haq 1700 dd
(D) Hadq 1375 ¥ Haq 1850 dH

Head Office: 103, 1* floor, B/1-2, Ansal Building behind UCO Bank, Dr. Mukherjee Nagar, Delhi-110009.
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36. ITYH B THRT DT 27

(A)% (B) SIS
(C) et (D) SreerHTaRe

3}7.1%@1 | Hfadl A waifee A g gRifaa
(A) Yoo (B) graxaTH

(C) PR (D) Er¥ieT

38. AT 9 IR JaRIRN— IR, TP, ARG
3R TPIHT BT GHEHT -

(A) SIFEIAT |RAET | (B) W! ATEAT

(C) SFT &¥ AT ¥ (D) Ofcrad w1 |

39, fAifha &34l &1 S Ha & FTAR HA
freiRer #ifdrg?

(A) g9, STER, IHAI, I8

(B) €M, &<, YHcilH, SIhY

(C) Y&, IelI, STaR, g

(D) Y&, SR, YHellH, =<

40. ITETY IFE YA A QRIS BT Ta0D
sl fe9 a7 87

(A) I BTG BT (B) AR &I

(C) fer=amafor &1 (D) fa=rY &1

41. ‘Rgrriar @ == e 37

(A) T ST (B) 91T TR faetd
(C) DeTae™d (D) AfcR™

42. TR BT B ITABR E—

(A) FrRaRIe™ (B) <@

(C) vafaf (D) fer=crHf

43. 59 [ -1 S Afcrgad Tal 87
(A) TS (B) 3ATeTH
(C) @ (D) fazmy

44. R Ifed & SYIp Pl B 37 AH | A
ST ST 8=

(A) SHTa=IpTeT (B) ITEIBTA

(C) TeIhict (D) I Bl

45. " RT & SN IS 3R ARG B TP B—
(A) I 3t (B) URTg BR¥e=

(C) <. 7T (D) 7v& GoIR dToru

46. TISIRYT &7 Uqq 31 & &9 @ @r
BT AT 87

(A) RBrausare Rar fewe

(B) e BR¥T™

(C) 3 HRTR vt fgad)

(D) 9Tq, Hfrefrerer T

47. 5ad 1 & &y E -
(A) 3rteT Rig Sureary ‘gRafer
(B) HfrefreRor I

(C) MR ardt

(D) AreTelTet fgad)
48. "SIFRIFT & Wi $IY & &1 99 9t & 1
Ig Sfa foa aftcer ¥t 87

(A) BT T9TE fgddl  (B) A_gar arorudl
(C) FeTdR wuTE fgadl (D) Arg-Terret fgadl

49. ‘ggaTASar fHe ®rea g & faear 87
(A) IR T (B) feraraT g
(C) FeFeT G (D) BrATaTaY g

50. BRITEIE & gail IoAT 3R 3R gacid 83—
(A) SRAT — STIYHR T™ATS

(B) SIUf¥RAT — HETEdT aHf

(C) FRrewaRT — gfFAT== ud

(D) 3T — hHr Ut FoRTe

(A) YT A (B) ARTISIA =

(C) ferreT 3 (D) #ETedr qHf -

52, TG &7 JRfad A9 83—

(A) ISTIRr 85 (B) ey sy

(C) @ T s (D) ST ¥ Dig ol
53.f7 # @ @9 TR 999 & B T8 57
(A) AR FET (B) 37T

(C) Ffdisirer (D) AfE S

54. THqTa T HIERT & ol Ugaw gam or?
(A) BTITATET. BT (B) yTfcraTel b1y

(€) FARTATET D1 (D) THEraTs
gs.‘ﬁva%ﬁwmﬁaam%mwaﬁuq%
?

(CVASIRICIE (B) WTReraTE

(JRRINEIE (D) 377H & IS &l

56. T BfAdT & Yadd B—
(A) TIUERIIOT fA81 (B) HETIR w¥ATe fgaa
(C) UFa< (D) 3Tz

g7.ﬁw%@ﬁﬁﬁﬁﬂwﬁwm€rs$¢
?

(A) T (B) g0

(C) =T EIER]

58. IAIRIG eafdl BT Fw gar 3—
(A) Dadl ATH A

(B) e & ¥

(C) T IR J@ <l
(D) T, J& 3R d1q |
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59. IO Rrem # eaf el &1 aiffgd &%7 & aF
I Ui AR eR fey 1 87

(A) ©R, BT, I, |dlg, A

(B) ¥R, BT, WA, UI, AU

(C) Tel, YIS, AT, UT0T, e

(D) TR, AT, BT, UTUT, I

60. AT TR 59 TreR & 8, 99 R BT A9 ST BT

DI AT W G HRar 87
(A) Sfdcarad BEIEEIEET
(C) SifraTad (D) ASLEEIEED

31. ‘TET—989 B U’ § ugad fgohn ‘qei—a8
(A) IRR® FH=T g™ & 3red H

(B) AT Udhe B & 3 |

(C) Wg ga™ & 3ref #

(D) FHUCT Ybe HRd & 3 H

62. d9® @ forg fre 9™ &1 yaART fHar Srar
g7

(A) ITH JoNardd HaAM

(B) eI goNaATAd: HIAH

(C) 3T YoNdTradh HAAM

(D) U |t Tera &

63. ffalad arel & forar—faRivor gaa a9 &=
v 8?

(A) H T T MM |

(B) I8 R g<x T |

(C) T I el Gg

(D) 31T IMH"H]. A ST

64.T% & e @I ai+l AR IRE W fore TE R,
HE BT T BITT—

(A) SURferRad (B) SuRferfRac
(C) Sufeifae (D) HufifRae
65. "G BT Gfufdeee gBrm—

(A) 3T + HIq (B) 311 + 3MTd
(C) 1 + T DEESICIES
66. ‘=1 &1 IFI—fI=e arm

(A) 3T +1 (B) A ++
(C) 3 +7 (D) 31 + far=
67. ‘FUTCHETD' H DIF—d A &7
(A) TG (B) T<gDY

(C) &g (D) HHIRY
68. ‘Pron e’ ¥ PprH—ar Targ 27
(A) rarimTg (B) TcYDY

(C) PHIRY (D) g%

69. fr=iferiaa # & &I &1 w=g gfeetT 87

(A) gerur (B) g-ITae

(C) <ar DEIGEIS
70. 1 & @ BT A1 Isg SAfeiT 87
BES (B) 3FR
(O (D) Ahed

71. 501 & fw wu § &t & FAR fof1 uRacH
& BT 8?

(A) TAAHSIIH WY H (B) ddTeTd WU A

(C) ¥fasuiferes w9 # (D) 3smeid w9 H

72. 9 A9 g R v 2

(A) gor (B) Teif+rep
(C) a=mf~rep (D) foggn
73. 7 & 9 59 v & QU 82
(A) TEDR (B) freT=

(C) <@ (D) BRI
74. <ifgedT BT g 28—

(A) T (B) #r=TIIC
(C) T=8TH (D) otfeRoT
75:°3af &1 fAew 32—

(A) 3fq=i (B) 3R

(C) 3r5idt (D) eraf=i
76. S ¥ =1 fell 9T a1 gfaw @) A o, S9
Pel—

(A) GaTHfcl (B) EHfT
(C) TG T=THfe (D) =l

77.9¢ R F9-HICH | B

(A) gouTef & BT & # Atherar 9 e

(B) =g @ SAMGR! A fH<dl &M §  Ahardr
IEEE

(C) Bael AT BT ATH o= | Bl H § Fherdr
= e

(D) Dadt Arad B ¥ fhfl ™ # A%erar 7
IS

78. MER il ST ST o g3l oT—

(A) 1498 3. (B) 1532 .

(C) 1623 %. (D) 1574 S.

79. AfeT® YEwIE SERA N WG H7T AW B,
Tqife 39—

(A) ST T3 H UsT 8¢
(B) STIIT # &l |19+ dTel o
(C) STIIT A\ %19 & faril o

(D) SuY<h H A BIg &I
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80. SeTHTATY ®T W1 &9 AR Haf gl A1? 9 4
AEH D FHABINT A7

(A) T 1478, TRV, 16K & TABICA

(B) | 1578, THIRYI, fHaR & FHBICI

(C) & 1530, THRIT

(D) 1 1500, THIRYT Rid=<x TSl & TABIGH

%ﬁ'ﬁﬁaﬁwmgﬁ'ﬁﬁﬁvwﬁaﬂmﬁmﬁ
(A) E% off 31 (B) FETeHT et oY
(C) g9ye< 99 7 (D) SR S 7

82. STHRIEN IATHR’ & fUdr &1 a1 M on?
(A) (B) SRT&HT UG
et

(D) 574 ¥ @Iy &I

83. ‘IMYAF T Bt ART L TN B
(A) gHaT ch%lesm (B) WeTedl aAf

(C) ™m (D) #= WUSKI

84. WETAd! 991 B IAP G I & forg ‘AU’
RER Aer—

(A) 1968 (B) 1972

(C) 1978 (D) 1982

85. ‘qTelrg’ SUAM | ITIE B I—

(A) DERT 3TaTdl  (B) GAFT<T Ud
(C) SR JTE (D) depic Ty fARTel

86. ‘I BT BfY Har WA o—

(A) 371 (B) fasax

(C) gfrr (D) TS
87.?ﬁﬁqmmz§ﬁrwaaﬁuﬁ'§wﬁam'm
3T

(EA)G:WWw S UR.ER~_(B) IR H&T

(C) fpasii=ral & foe IR

(D) g

88. g gTalTel ST ol fevs! wTfeey w=ier
&RT Jrereafa @ U 9§ 3rciqd fdar T=ar?

(A) 1940 (B) 1945

(C) 1947 (D) 1949

89. =T P Uil STHBAT ARIBT 2—
(A) ST <dl gl (B) feT SrirdTel
(C) BFH 3% (D) ™

90. 2= 9T @ BT BRI fHas uRwT fhar?

(A) TUTTETH RSl (B) GoeTs HRIGTATAl
(C) 3= HAR (D) ERder X1 gea
91. T PEFI B U UG @ o—

(A) T=TUTe (B)

(C) wofrea=HTer V] (D ELCIREIESI

92. f3arft R it &1 1 M o
(A) &Y I\ ware fgddl (B) it 8Rex wwTe fgad
(C) & B8R wwre fgadl (D) it MReRr fgady

93. faarft sR &1 =1 o9 gomr or?
(A) 1880 . (B) 1890 .
(C) 1896 S. (D) 1897 .

94. §77 Hfgem & fUar &1 | AR oOr?

(A) XTE =T EIY (B) \MERT OIY
(C)YM ARIIV €Y (D) Yoers

95. "3116 AT dId, ST |

9 d ) g TE |

Gfeal o1 9y fhd 9Wee 9 87
(A) HRTg (B) JeTa-TRTIT 351
(C) STeTeR™T HeC (D)

96. MRdg eR¥a=< fbds Ha 97
(A)X™H (B) TR

(C) rTT—7oT (D) Frjor &t
97. ‘WG fHad! T 82

(A) ERIIR™ §=a4 (B) O

(C) . RMGAR T (D) fawy weR

%g.mm%ﬁ%wﬁﬁmaaﬁwwa

(A) SRATTRAT BT (B) ST SITIROT

(C) snfedmrar (D) wvTdhTe

99. ‘GRS’ yAigars 28—

(A)HE BT (B)T=sHL. BT

(O g @r (D) fOT b1

100. ‘g’ &1 faam v 78l o

(A) 79 (B) foe

(C) fafia (D) SS3s

Answer Key

1:(0) 2.(C) 3. (A) 4. (B) 5. (B)
6.(A) 7.(B) 8. (A) 9. (B) 10. (A)
11.(D) | 12.(C) | 13.(A) | 14.(C) | 15.(A)
16.(D) | 17.(Cc) | 18.(B) | 19.(A) | 20.(C)
21.(A) | 22.(C) | 23.(B) | 24.(c) | 25.(0)
26.(C) | 27.(A) | 28.(B) | 29.(B) | 30.(D)
31.(A) | 32.(0) | 33.(D) | 34.(C) | 35.(Q)
36.(8) | 37.(B) | 38.(B) | 39.(B) | 40.(C)
41.(C) | 42.(A) | 43.(D) | 44.(B) | 45.(A)
46.(B) | 47.(D) | 48.(C) | 49.(B) | 50.(A)
51.(A) | 52.(B) | 53.(A) | 54.(D) | 55.(C)
56.(D) | 57.(B) | 58.(C) | 59.(B) | 60.(A)
61.(A) | 62.(A) | 63.(C) | 64.(B) | 65.(B)
66.(B) | 67.(A) | 68.(C) | 69.(A) | 70.(C)
71.8) | 72.(A) | 73.(A) | 74.(A) | 75.(B)
76.(C) | 77.(D) | 78.(B) | 79.(C) | 80.(A)
81.(B) | 82.(A) | 83.(B) | 84.(D) | 85.(A)
86.(B) | 87.(C) | 88.(D) | 89.(A) | 90.(C)
91.(B) | 92.(C) | 93.(C) | 94.(A) | 95.(B)
96.(C) | 97.(A) | 98.(B) | 99.(A) | 100.(D)
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e A

e (1-7): sweifeorad ey ufs@r de-ak wea I
faely wHfod SR foer forad |
BRI UIAIIR T ITH: | T A
Brers!’ AR | 788 TH IV ASHIARY T+:
g | I g A RIaTs” Arg: A ST 9
aﬂ'ﬁ—dl AEH qieddblel U
AT TG AHT YTeAH STHRIq | STeddTale Ud
: ardaufaHrrE=: S | THET AGDHR: FI
<l Ufderd | 95 Ud: "N H TR | ¥ 9Tk

{| HIGT O S[car FalaeH ANTesd | dal
TGP HIARY Aded— 37| A=IRIINI HEaq
AR AR | e UT 31E wepid He: widwfy |
AqT: Td YD AP GoRl: 34 | eyl 9

JrErdfa<aTeTd S U |

Eﬁﬂ‘d‘ﬁq ISP e g HTef
1. YR T wer fdwa:?

(A) ST (B) E[U SEINI

(C) T¥ReTIH DEREIE

2. ISR g & ardiq?

(A) TFRTST: (B) 3NIR:

(C) Rrerra: (D) Rrage:

3. ITARINIEHR: TTABIATRT B: AT |

(A) TR (B) TOTaT:

(C) afvrap: (D) TRSHT:

4. 91g: Al e . TeTq FAereed |
(A) RraiTe: (B) RRra~T:

(C) TSHX: (D) Rra qmor:

5.788 T I HET O : WA |

(A) TR (B) WWW

(C) ATATigeT (D) ST

6. TSl | HI &3 AR S+
ey |

(A) efEIISHR: 87 (B) FETHIIRGR &

(C) BRI &3 (D) &9 &=

7. ASHIAR: ﬂfﬁr—ﬁﬁéa FHoad—
(A) TSR + 3R (B) %IGCM + 3T
(C) AR + IMER: (D) TEHR + TER:

frder (8 - 14): srEnfaRad ey ufdwr ag=

yEIl fadely wqfe S’ R fored |

ISy Baq e’ gfa AT ufig <o

amfﬁm : ST g RIS AN HAVT TR
W 3T AT | ORI T oI Jg YU GRIATT

amﬂm%w;ﬁ ™ faequer sfa Tl g\}

| T uRafedr srad, avan

qﬁg%:,*} T fdderiil awad, TR dRETT

fIeauelT EAICATET 71 VA, X1 e dRam

INE CRSE] CRNNES DR

T Uq Al aﬂ?a:ﬁamﬁ‘r 3ATgar |

3ol g feare i oy | faeager CINERR

AlguTederAA A STl aaid g+ smgadd! |

Rrege faawrd: | o

8. fawauetr &1 rAI?

(A) <ll? AfHe (B)d?@\-lﬁ

(C) ferrst: (D) uRdftear

9. |T g Uil ANI?

NEIRERICIN] (B) fargauetr

(C) ERITT (D) Wef:

10. U g A1 T aRafkear sraq|
(A) TE BT (B) SAreTIfHdT

(C) dRfTe (D) uRaftear

11. T T S AR (rIe?

(A) fervs=g (B) g fgom

(C) 3rheqadry (D) BISTH

12. e I i ol STHI?

(A) dR: (B) GETet:

(C) re: (D) 23

13. RIS fwque ... 5 3vaq |

(A) elreffid (B) fAfeH
(OKIESEIR (D) EGICHIET

14. T TG I3 <atfafbeda! JEETaT |
(A) STRATGHART (B) SUET=TH

(C) T (D) #fEen1

fcer (15 - 21): sEnferRed Selte afdaaT
TernRayeH fasarmeiary e ST o
feora |

BRI Fafd fassi~ Wy |

BT R G AT s‘crl |

JETHUET IR o

T FermeT Xy faRrem arfsa :rrfsﬁ?r I

T TS e—deh TQTo: |
B G G ST
3y | T

=1 i qnfy S Brd gerafaand | |

15. IURfAREAY Teliey & Wie:?

(A) T (B) ge:

(C) A<g>u: (D) BT

16. WY Ty FARADA: B: BAG?
(A) RraRofy (B) TTTIA

(C) 3rIecH (D) gF=IfreTdT
17. ST’ Pige: IRa?

(A) ThTD (B) Fas:

(C) AITaR: (D) AIATIP:
18. WCYONT §9 & Haf~?

(A) ATETaT: (B) STatfd—<a:
(C) ge: (D) #ET
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19. ‘ErGer’ fHwefy wafa?

(A) BT (B) 9&T, dcdhel
(C) IR—e (D)%ﬁ@ﬂ
20. I P HIf~?

(A) FEToET: (B) ger:

(C) Tera: (D) eHfe:
21. JUIRGEYTRT & Haf=d?

(A) 3TTHT: (B) o

(C) HaciThHaT (D) HHICHT:

fder (22 - 28): famfoRaar waie ufsar:
SETAA] YEAR] STRIOT TEIG—
BIIRATEIATGT PBIedl Tl SHm |
A IO EAr wered arl |

AT PRI gHafa dTIe BIF: ToTRId |
AT AIed AT d¥: UTIRI HRUTH | |

A BivEd dRFEFF T Bikaq ey |
AR AT ST Ruawqe: | |

Toiad G THRS G o |

I STuere) warered gl @eid | |

22. 9T BIer: A9 TBfa—

(A) T (B) BIeRAIAG
(C) frem: (D) el

23. g |§Ha: $f Tl

(A) g (B) Fete
(C)fea BelgT @ (D) BIATATAAIGH
24. UqEY’ $9 HI<US H YO o—

(A) Tt (B) 31

Q= (D) &

25. M o T _safa?

(A)hTer: (B) BTH:

(C) #re: (D) 9oaH

26. =T Rua: = A9 wa=a?

(A) AT (B) aERUT

(C) Hresi (D) pete

27. SIS’ 3 P GoI?

(A) T ST7H (B) BoTH

(C) I (D) gfordH

28. ‘FHT AR U &7 fowfaa: 6 o qa=m?
(A) T TehaaT (B) UST=Hl UebddTH

30. ‘TIRUGH' B AGD 5—

(A) erfvren (B) &St

(C) 7=c (D) frgarer

31. ffafea 4 9 fd &k SO @WAOR 1 @
I e B, 98 o—

(A) AT — 9T

(B) BYART — STUIE

(C) STRHARARTH — TUSI

(D) TaATEHIRARTIY — ITSTYRER

32. GUSTEUSETE’ T & Al DIT—57?
(A) Fd=ITHT (B) Fraapiary
(D) areryfar fast

33. fAmferfaa srermTE et @ SHe Rl
I B ITAR |E IHA o—

(A) T8, Gridh, A, JATT<ae

(B) FIp, WA, dTH, ST—ade=

(C) N =ae, =i, HHE, AT

(D) 98, aTHH, e ae, Hrdd

el

34. W& pa @ e geel § | pA—a1 Aes =8 /7

(A) STITRRATR BT (B) XgawH

(C) AT (D) dUTRIER

%g FIfISTH @I {59 &1 DI_gadIed AT S
(A) IfSfrere ey, (B) Rt

(C) HergeH (D) FrcHaraBTrHRE

36. ‘STRYHANRT @ A1 3P T T fHaw 87
(A) ETfcHaT H3TMSH - (B) WY & dc
(C) Srareay ¥ (D) 9FacT |

37.“HR0 P VH ST B gfrSToAT fha g &

g &f TE?

(A) { (B) STRRMARTH

(c) { (D) foRraTeier

%8.‘Wﬁ§?ﬁﬁ=rﬁfmw‘svgﬁﬂﬁgaﬁm
|

(A) g 3? gg?ﬂ (B) feb=ramsifera

(C) { (D) BAREHIA

39. foe ®fd & aroft TIRPAT B’ & FAN 87

(A) TEHUR (B) #feR

(C) BrfereT (D) ¥RfT

40. ‘ATE AT FANOT’ @ TR, AT Hfa A

(C) JefTam 9gaa= (D) W ThadIH FaTfse A9 1 A fh dF siadl § &
) ) (A) ®IfeTarE, YRMA, gUs!

29, Wity widsafa o | g8 dfea fea g (B) Piferer, Hey, T

a)%? o () :g\%qw, I, TUL)

(C) Rrawrt s (D) fRaRwr (D) RIS, .
41. REIHYHI SNT’ Sfad fa Imart @ 27
(A) g (B) farza=rer
(C) g9 (D) ¥=d
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42. 9 ¥ | @19 9RAT FHET © WTh 27

(A) ¥R (B) RTSTSIRER

(C) fargarer (D) 991

43. I FIF A TP @ s 95 99 F |
(A)UTEI (B) ©8

(C) 315 (D) \rd

44, 9 HIHN fawifar afargeEs] a8 $oA
fora®r 87 P

(A) wTHE (B) ¥gc

(C) guel (D) 991

45. {5 v § gl &1 quiF fear T 87
(A) PR (B) ‘3 TWhHICHY

(C) TIGARARTH DIRSICE

46.71cd # 37t UGl fae A I 87
(A) arq (B) &4

(C) U= (D) &=

47. PAFD P UId BR alal FATUerdi P
'\‘HE!?T@W%%?N

(A) < (B) @R
(C) Ura (D) ©:
48. Arfgca—

1. RER @ 2|

2.9 $ o &)

3R 2 (B) 1,23k 3
(D)33iR 4

(C) BTerAufYE (D) ®AAYE

51. Sfo fivexficat 7 Ifee wiftw & fHaw A%
A= &7

(A) U (B) =T

(C) & (D) TR

52.9fg &1 9fEHTm I1 91 99 g 1 vd gt
P =T 87

(A) 6 FTT T4 600 TR BT

(B) 30 | U4 600 UE

(C) 16 |T UG 3624 Uef &

(D) 20 &7 U4 3624 UEl @

53. SR $r fasmfecar o1 a9 fHan go

gq qftfq faar

(A)5 So Jo (B) & ¥ qd

(C)7 $o Yo (D)8 So Yo

%4Wﬁ$rm634éo$ﬁﬂﬂrﬁlmﬁ§3n
5

(A) ST Rrererd (B) TEIat Rretrerd

(c) vfera Rrctrera (D) vga! Rremer

55. RIAMCeIR®T Bl BT HarET ofi?

(A) SITUT BT (B) TER @

(C) gageR @l (D)?Wfﬂ? LAl

56. M= & W= 2—

(A) O AdH (B) SIS

(C) TRt (D) ashIfd T=mf3renT

57. W%gl'\fgw P DI AT 27

(A) Sl (B) URHGNI

(C) 3 dferd ®R& (D) FEHATBI

58. TCIANTE # WRAYFT -1 Goui B faaei Yapferal

BT Sooig far 82

(A) TR (B) =T

(C) = (D) ©%

59. UHIel UIdd HT Hsi—

(A) <1 (B) HHIER:

(C) Tehdur: (D) eTgrTH

60. ‘F aU B YHG Bl -

(A) 12 (B) 13

(C) 14 (D) 18

61. UIER dIferdT & BN T8 87

(A) @ (B) T

(O (D) TR

62. GeUeR BT B |
(A®, @ T, 9 (B)31, 3M 8, 3
(C) T, U, 3, 3t (D), U, 4, ©

63. T¥HT ATHRYT | o FITFaE) T B §P
(A) 33 (B) 34
(C) 35 (D) 36

64.99 9 R P qUI & e W o9 BIg fJHR I
B a1 98 T BTl 87

(A) Tepfar (B) aTeh
(C) FHTER (D) AT
65. ‘B + M B FRT Bf—
(A) BT (B) ®ISfY
(C) wrfY (D) BIS
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ssﬁwﬁﬁaﬁﬁ—wqm T B

A) FHRAGHRT: (B) dfgaafed
(C) JAERIT: (D) Ba=T
67. TG ATHRYT B IR WRI (1) B He&m B
(A) 14 (B) 09
(C) 12 (D) 32
68. AW fHas PR PI Bl 87
(A) 2 ()3
(C)4 (D)5
69. ‘o1 + MO’ &1 ¥& wu BRI —
(A) TSoIeT (B) axfar
(C) eaSifey (D) drerafa
70. ‘J1r g gy ok e SriRa?
(A) JFT=RH (B) HegH:
(C) a1f==: (D) 311
71. ‘SIS’ I P SETER0T B—
(A) afewa (B) dgTf=
(C)aruR: /ameR: (D) W
72. 9 A P GG § Byl
(A) TT&H (B) IgH
(C) g (D) B 3R C <
és.qsﬂ?$$qﬁa1ﬁm@rﬁwﬁﬁ(=)ﬁaﬁﬁ
(A) forgargeia (B) SUEATHIA
(C) A, BT (D)3 A PIg el
74.°§91" & ANT § JARL &) M areit faufa o
(A) =gt (B) Gertl
(C) S (D) AT
75. ‘TR fdu oI & w9 57
(A) P (B) ¥%3
(C) =¥ (D) 3T
76. HET| TSRO Trfor ﬁ G @ qoiHTET
Pl §fcT 8=
(A) 10 TS} H (B) 12 Wusi |
(C) 14 TusT # (D) 16 TSI #
77. O ARG B A -
(A) ga: 994 (B) Mm;ﬁr@

(C) JIRATATIITT (D) TRIoTATS:
78. 'TAVT HE s’ H wHNE B

(A) AMTER Fgsilfe  (B) AfRrbRor dgaife

(C) JouainT wgsife (D) ARl SgsiifE
79. G sfa o= Suwt: Iifka—

(A) ¥H (B) &

(C) T (D) <

80. THRITRIY AR & fad™ 5—

(A) AT (B) Frfie

(C) fagem (D) IIHTDH

%1 T I IOl 9199 BT HHAT | gRafdd vy
(A) T I Toord (B) AT SR

(C) : Tar: TooT=T (D) 39H & P el

82. ‘AP A o' &7 T4 b9 go # gan
oT?

(A) 1884 So (B) 1885 To
(C) 1886 So (D) 1887 So
83. SIeRFRIY & YIHTBR DI 87
(A) RTSTRIER (B) arfesifds
(C) 3=y (D) \T

84. =TT &1 W 8-
(A) 1050 So & ST (B) 1150 So @ oI
(C) 1100 So & I (D)4000 So & I THIT

85. ‘STIIFART & TFD &

(A) TTHARTIY Y[kl o (B) BRARTIOT

(C) #¥C (D) T dhTaw AT
86. TAMRIE DI HaT TAT B—

(A) I T (B) TumHdg _
(C) T d8Tgy (D) 39 W-bIg &I

87. 918 HIFHT B~
(A) 675 S0 & T
(B) 800 So @ oI THT
(C) 1500+ o & ST THIT
(D) 120030 & SITHI

88. ‘TMigey’ i#ﬁn‘h?n%—

(A) S<T9Yq 9R gﬁ?c—«r

(C) <awy R D) TIF¥eR sg
89. ﬂoﬁﬁﬂ@?#mmwﬁmwﬁﬁ
WeR fear—

(A) BST FTaTeal (B) TIREGT eraTedT
(S RSISEIRIGIES (D) U rared)
90. §IUME P 9IS A—

(A) TR (B) &

(C)&r (D) U=

91. 3t § B &

(A) &, 3rel, B1H, AET  (B) HieT, 31l HrH
(C) &, aref, & (D) 31ef, &, HieT
92. ‘fae’ ram 8-

(A) AT H (B) YepROT F
(C)Are®d | (D) ey #
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93. Y9I TvRIGY AlCH B—

(A) RO BT (B) SrZaETY

(C) AR T (D) RTSTEIRIR

94, HEqAH § STH § TEIDT B HEAT 5

(A) 60 (B) 50

(C) 52 (D) 48

95, JfRuedYr favad &—

(A) STt o (B) Seatrl H

(c) uR=ssel # (D) ¥ #

96. TSI & fUTT ST A AT o7

(A) ATSHR AT (B) dRa

(C) g T (D) ST & BIS e

97. IUME HT FHfa TE -

(A) BTEHRT (B) BYRH

(9EESINRER (D) NgawH

98. 71g & fUaT &1 9 2—

(A) 5TTeR (B) T waisa

(C) 2T R (D) gu9<d

99, YHRIVT Ho! & Yafar 8—

(A) &= (B) fRrar

(C) =< (D) aTeHifep

100. PEATFIES ¥ fbae 3 &7

(A) 6 3f® (B) 7 3i®

(C) 8 3ih (D) 5 3

ANSWER KEY

1.(D) 2:(D) 30(A) 4. (C) 5. (B)
6:(C) 7:(B) 8:(B) 9.(D) 10. (A)
11.(B) | [12.(C) |/13.(D) | 14.(A) | 15.(B)
16.(C) | 17.(B) | 18.(C)"| 19.(B) | 20.(A)
21.(A) | 22.(B) | 23.(C) | 24.(D) | 25.(D)
26.(B) .| 27.(C) | 28.(A) | 29.(€) | 30.(B)
31.(D)..|~32.(C) | 33.(D) | 34.(B) | 35.(C)
36.(D) | 377(B)[—38.(B) | 39.(D) | 40.(A)
41.(B) | 42.(B) | 43.(B) | 44.(A) | 45.(B)
46.(C) | 47.(C) | 48.(B) | 49.(C) | 50.(A)
51.(C) | 52.(D) | 53.(C) | 54.(B) | 55.(D)
56.(C) | 57.(D) | 58.(C) | 59.(D) | 60.(A)
61.(C) | 62.(C) | 63.(C) | 64.(D) | 65.(B)
66.(C) | 67.(B) | 68.(A) | 69.(D) | 70.(A)
71.(A) | 72.(D) | 73.(B) | 74.(A) | 75.(C)
76.(C) | 77.(8) | 78.(C) | 79.(A) | 80.(D)
81.(B) | 82.(B) | 83.(A) | 84.(D) | 85.(D)
86.(B) | 87.(A) | 88.(A) | 89.(A) | 90.(C)
91.(C) | 92.(A) | 93.(A) | 94.(C) | 95.(B)
96.(B) | 97.(D) | 98.(B) | 99.(A) | 100.(A)
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Directions: Read the passage given below and
answer the questions that follow by selecting the
correct/most appropriate options:

As science progresses, superstitions ought to grow
less. On the whole, that is true. However, it is
surprising how superstitions linger on. If we are
tempted to look down on savage tribes for holding
such ideas, we should remember that even today,
among most civilised nations, a great many equally
stupid superstitions exist and are believed in by a
great many people.

Some people will not sit down thirteen at a table; or
will not like to start anything important on a Friday;
or refuse to walk under a ladder. Many people buy
charms and talismans because they think they will
bring them luck. Even in civilised nations today, many
laws are made on the basis of principles which are
just as much unproved. For instance, it is often held
as a principle that white people are by nature
superior to people of other colours. The ancient
Greeks believed that they were superior to the
people of Northern and Western Europe. The only
way to see if there is anything in such a principle is to
make scientific studies of a number of white and
black and brown people under different conditions of
life and find out just what they can and cannot
achieve.

It is however, true that the increase of scientific
knowledge does reduce superstition and also
baseless guessing and useless arguments and
practices. Civilised people do not argue and get angry
about what water is composed of. The composition
of water is known, and there is no argument.about it.

1. We should not despise the savage tribes because:
(A) they do not-believein science.

(B) they-indulge in.useless arguments.

(C) they have stopped being superstitious.

(D) we are no less superstitious than they are.

2. Which of the following has a'scientific basis for it?
(A) We should not walk under a ladder:

(B) Number thirteen is inauspicious.

(C) Talismans.and charms always bring luck.

(D) Fridays are'as-good-as other days.

3. Who believe in superstitions?

(A) All civilised nations.

(B) Only some civilised nations.

(C) Only same tribals.

(D) All tribals and some civilized nations.

4. Study the following statements:

a) Ancient Greeks were superior other European
nations.

b) Science helps us fight superstitions.

(A) ais right and b is wrong

(B) ais wrong and b is right

(C) Both a and b are right

(D) Both a and b are wrong

5. Which part of speech is the underlined word in
the following sentence?

On the whole that is true.

(A) Determiner (B) Pronoun

(C) Conjunction (D) Preposition

6. Identify the part of speech of the underlined
word in the following sentence.

It is often held that as a principle.

(A) Pronoun (B) Adverb

(C) Adjective (D) Preposition

7. Fill in the blank in the following sentence.

is opposite in meaning to the word,
‘superior’.
(A) Higher
(C) Inferior

(B) Prior
(D) Lower

8. The statement which best sums up the passage is:
(A) Superstitions disappear with the advancement of
science.

(B) Irrational beliefs declinewith the advancement of
science.

(C) Civilized nations.are no less superstitions than the
savage tribes.

(D) We are very different from the savage nations in
our beliefs.

Direction: Read the given passage carefully and
answer the questions that follow.

| fully expected to find a Constable in the kitchen,
waiting to take:me up. But-not only was there no
Constable there,’but no discovery had yet been
made of the robbery."Mrs. Joe was prodigiously busy
in getting thehouse ready for the festivities of the
day, and Joe had been put upon the kitchen door-
step.to keep him out of the dust-pan - an article into
which-his destiny always led him sooner or later,
when my sister was vigorously reaping the floors of
her establishment. ‘And where the deuce ha’ you
been?’ was Mrs. Joe’s Christmas salutation, when |
and my conscience showed ourselves. | said | had
been down to hear the Carols. ‘Ah! well!’ observed
Mrs. Joe. ‘You might ha’ done worse.” Not a doubt of
that, | thought.

‘Perhaps if | weren’t a blacksmith’s wife, and (what’s
the same thing) a slave with her apron never off, |
should have been to hear the Carols,” said Mrs. Joe.
‘I’'m rather partial to Carols, myself, and that’s the
best of reasons for my never hearing any.’

Joe, who had ventured into the kitchen after me as
the dust-pan had retired before us, drew the back of
his hand across his nose with a conciliatory air when
Mrs. Joe darted a look at him, and, when her eyes
were withdrawn, secretly crossed his two
forefingers, and exhibited them to me, as our token
that Mrs. Joe was in a cross temper. This was so
much her normal state, that Joe and | would often,
for weeks together, be, as to our fingers, like
monumental Crusaders as to their legs.
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9. Which of the following is true with reference to
the passage?

I. There had been a robbery in the house,

Il. Mrs Joe was a blacksmith’s wife.

Ill. The preparation for Easter had been going on in
the house.
(A) 1, ITand I
(C) lrand 1

(B) land Il
(D) Only |

10. In the passage, why does Mrs. Joe calls herself a
slave?

(A) She was a bonded labour.

(B) She was forced into unpaid labour.

(C) She was always busy with household chores.

(D) She enjoyed taking care of the household.

11. Why had Joe been put upon the kitchen
doorstep?

(A) To stop him from messing up things in the kitchen
(B) To keep him out of the dust-pan

(C) Because he would spoil the food

(D) Because he would get hurt

12. Why according to Mrs Joe, did she never hear
Carols?

(A) Because she never celebrated Christmas.

(B) Because she was a slave.

(C) Because she disliked Carols.

(D) Because she loved them.

13. Why did Mrs Joe dart a look at Joe?

(A) Because she was frustrated by the festivities.
(B) Because Joe had entered the kitchen.

(C) Because there had-been a robbery in'the house.
(D) Becausedoe refused to help-her.

14.“...Perhaps if | weren’t a blacksmith’s wife...”
Which part of speech is the underlined word?
(A) Adjective (B) Preposition

(C) Noun (D) Conjunction

15. “...and:that’s the best of reasons for my never
hearing any..

The underlined word is a/ an

(A) Conjunction (B) Interjection

(C) Preposition (D) Pronoun

16. “...Joe, who had ventured into the kitchen
after...”

The word “ventured” means the same as:

(A) Moved (B) Pleased

(C) Replaced (D) Departed

17. “...when my sister was vigorously reaping the...”
The word opposite in meaning to “vigorously” is

(A) Naturally (B) Strongly

(C) Maturely (D) Feebly

18. Choose the correct passive construction of the
sentence.

“Someone sells tickets at the box office.’

(A) Tickets are sold at the box office.

(B) Tickets are being sold at the box office.

(C) Tickets were sold at the box office by somebody.
(D) At the box office, tickets were sold by somebody.

Direction: Choose the correct prefix to build the
word. The meaning of the word is given.

19. beat = positive and enthusiastic.
(A) Up (B) Out
(C) Down (D) Over

Direction: Choose the correct prefix to build the
word. The meaning of the word is given.
20. .....hold = look at or see something or

somebody.
(A) With (B) Up
(C) Over (D) Be

21. Identify the word which has a different sound
(underlined) in the middle:

(A) foot (B) should

(C) wood (D) food.

22. The students said, “We want to learn aforeign
language."

Complete the above sentence after it has been
changed into reported speech.

The students:said that .

(A).they'want to learn.aforeign language

(B) they wanted to-earn a foreign language

(C) we want to-learn a foreign language

(D) we'wanted to learn a foreign language.

23.-Choose the word on a phrase, which is incorrect
in standard written English. If there is no error,
mark your answer as D.

After the

humiliating exposure(a),/Nitin hanged(b)/his head
in shame(c), No Error(d).

(A) (a) (8) (b)

(C) (c) (D) (d)

24. Fill in the blank.

The situation........ceceeeeeeinnine
(A) continued to be paralyzing
(B) continued to paralyzed

(C) continued paralyzed

(D) paralyzed and continued

25. Choose the part where there is an error in the
given sentence:

(A) I went to

(B) the library to get

(C) as many information

(D) as | could
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26. A very brief pause in a sentence is marked
by using a/an
(A) semicolon
(C) apostrophe

(B) comma
(D) period

27. What is the comparative form of ‘bad’?
(A) bad (B) worse
(C) better (D) worst.

28. Fill in the blank of the following sentence by
choosing the most appropriate adjective:

time | cannot fail.
(B) Those
(D) This

(A) These
(C) Such

29. Fill in the blanks in the sentence with
appropriate article:

BJP party lost the recent Jharkhand
elections.
(A)a (B) an
(C) the (D) -

30. Fill in the blank with appropriate verb to make
the sentence past perfect continuous tense:

They since childhood.

(A) been fighting (B) had been fighting

(C) are fighting (D) fought

31. Identify the tense of the following sentence:
She was always smoking.

(A) present continuous

(B) past continuous

(C) future continuous

(D) past.perfect continuous

32. Fill in the blank by choosing appropriate
preposition from the given options:

A couple of trees fell duringthe storm.
(A) upon (B) over

(C) at (D) within

33. Identify the type of noun of the underlined word
in the following sentence:

This nursing hospital has more women doctors than
men doctors.
(A) Proper
(C) Collective

(B) Common
(D) Abstract

34. Fill in the blank by choosing appropriate article
from the given options:

He has no interest in cricket.

(A) the (B) an

(C)a (D) -

35. Fill in the blank by choosing appropriate
conjunction from the given options:
He doesn’t care he passes or fail in

the exam.
(A) whether (B) rather
(C) but (D) and

36. Identify the type of adverbs of the underlined
word in the following sentence:

The trash is everywhere in the park.

(A) Adverbs of Frequency

(B) Adverbs of Reason

(C) Adverbs of Place

(D) Adverbs of Degree

37. Change the sentence from passive to active:
An expensive car was brought by him.

(A) He brought an expensive car.

(B) Brought an expensive car, he.

(C) He expensive a car brought.

(D) An expensive car he brought.

38. Grammar-translation method of teaching
English heavily relies on:

(A) form-focussed teaching

(B) meaning-focussed teaching

(C) direct teaching as a strategy for-learning
(D) language use as the main focus

39. To help the students overcome the problems of
spelling mistakes, the teacher will use as
the teaching strategy.

(A) loud reading (B) brainstorming

(C) pronunciation drill (D) dictation

40. A teacher of Class VIl while teaching the poem,
The Solitary Reaper by William Wordsworth asks
children to find how the last words of each line
sound. What is she trying to draw the attention of
learners to?

(A) Theme of the poem

(B) Spelling of words

(C) Rhyme scheme

(D) Vocabulary

41. Which of these is a constituent of
communicative competence?

(A) Grammatical competence

(B) Strategic and socio-linguistic competence
(C) Discourse competence

(D) All of the above

42. To motivate and create interest among children
Harold Palmer does not suggest

(A) competition

(B) game like exercise

(C) repetition

(D) minimum of confusion
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43. Choose the correct answer

What is rote learning?

(A) Mechanical or habitual learning without
understanding properly

(B) Learning with great zeal and enthusiasm
(C) Learning without interest

(D) None of the above

44. 'Continuous’ in CCE refers to
(A) regularity in assessment

(B) constructive feed back

(C) frequency of tasks

(D) All of the above

45. 'Comprehensive’' in CCE implies that

(A) all the aspects of a child's personality have to be
observed

(B) scholastic aspects of a child's personality have to
be observed

(C) non-scholastic aspect of a child's personality have
to be observed

(D) students should be assessed regularly

46. The English Language Teaching Method that
refrains from using the learners native language and
just uses the target language is

(A) the audio-lingual method

(B) the grammar translation method

(C) communicative language teaching

(D) the direct method

47. Which of the following will be most effective to
remove conventional beliefs about gender roles?
(A) Showing a picture.in which the motheris seen
cooking andrthe father is seen reading a newspaper
(B) Teachingall the learners to sweep, wash and sew.
in the craft class without-any gender discrimination
(C) Encouraging girls to develop interest'in household
chores from a young age

(D) Telling the girls that talking freely is not a trait of
good girls

48. Which among.the following does not come
under meaning-based activities?

(A) Interacting with the text.

(B) Using previous knowledge.

(C) Reading the text and then narrating the same to
peers.

(D) Reading out every word aloud and translating it.

49. Which one of the following is not a form of
literature for children?

(A) Picture books

(B) Thesaurus

(C) Myths and legends

(D) Tales of heroes of history

Directions: Answer the following questions by
selecting the correct/most appropriate options.
50. Conventions of writing include-

(A) proper punctuation (B) imagination

(C) good vocabulary (D) story ideas

Directions: Answer the following questions by
selecting the correct/most appropriate options.
51. Which one of the following can be used as a
rubric for the assessment of fluency and coherence
of language?

(A) Can initiate and logically develop simple
conversation on a familiar topic

(B) Is always comprehensible, uses appropriate
intonation

(C) Demonstrate hesitation to find words or use
correct grammatical structures

(D) Can express with some flexibility and appropriacy
on variety of topics

52. Which among following.describes the meaning
of word, “Pragmatics”:

(A) The system of contrastive relationships among
the speech sounds that constitute the fundamental
components of a language.

(B) The.study of words, how they are formed,-and
their'relationship to other wordsinthe same
language.

(C) Study of the ways in which context contributes to
meaning.

(D) The meaning-and interpretation of words, signs,
and sentence structure

Directions: Answer the following questions by
selecting the correct/most appropriate options.

53. Which of the following is not true while teaching
the learners in their mother tongue at primary
level?

(A) It helps children in learning in a natural
environment.

(B) It develops self-confidence in the child.

(C) It makes learning easy.

(D) Itis helpful in the intellectual development of the
child.

Directions: Answer the following questions by
selecting the correct/most appropriate options.
54. Home language is in a natural way.
(A) promoted (B) acquired

(C) learnt (D) taught

55. Align the following sequentially as a priority of
language skill?

1) Writing 2) Listening
3) Reading 4) Speaking
(A)2,4,31 (B) 4,2,3,1
(€)4,1,2,3 (D) 2,1,3,4
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56. Which is third stage according to “Four Stages of
Adaptation model of learning”?

(A) Surviving (B) Searching

(C) Settling In (D) Separating

57. What is the proper sequence of steps involved
in remedial teaching?

1) Remedial instruction

2) Diagnostic test

3) Identification

4) Appropriate strategy
(A)2,1,3,4 (8)3,2,1,4
(©)3,1,2,4 (b)4,2,1,3

58. A teacher wants to encourage the use

of realia in her class. Which step should he/she
follow to do so?

(A) Increase innovation

(B) Reduce time consumption

(C) Increase difficulty level

(D) Increase authenticity

59. Teaching Learning Materials are broadly
grouped into three categories. Which of the
following is not one of those categories?

(A) Audio material

(B) Visual material

(C) Physical material

(D) Audio-Visual material

60. General mental ability test was developed by
(A) Crow and Crow

(B) R. P.:Srivastava.and Kiran Saxena

(C) Guildford and Skinner

(D) Gates and Thorndike

61. When formulating teaching plans, teacher
should not take the following aspects into
consideration?

(A) Difficultiesrof-individuals

(B) Basic knowledge that requires enrichment
(C) The effectiveness of teaching strategies

(D) None of the above

62. What should be observed by a remedial teacher
when dealing with behavioral problem of pupil?

(A) Complain with principal

(B) Invite parents to help children improve their
behaviour

(C) Establish a close relationship with pupil, develop
mutual trust and listen carefully

(D) Give them an assignment related to practical
word

63. Which of the following is not a one-way
communication?

(A) Radio

(B) Television programs

(C) Public address announcements (airports, railways
stations etc.)

(D) Telephonic conversation

64. Language learning starts from
(A) listening (B) writing
(C) reading (D) speaking

65. The language development starts with-
(A) Ability to read (B) Oral expressions
(C) Ability to speak (D) Ability to listen

66. Which among the following skills reflects

the needs of brainstorming ideas, organizing them
in draft, editing and revising their work?

(A) Speaking skills (B) Listening skills

(C) Reading skills (D) Writing skills

67. Kohlberg indicate that at the most primitive
level of moral development, morality is decided by:
(A) Individual right and social contracts

(B).Rewards and punishment

(C) Individual conscience

(D) Social approval or disapproval

68. Identify the rhyming scheme of the given lines:
The grass will poke between your toes,

Smell the flowers with your nose.

Clouds form-shapes within the skies,

And light will glisten from your eyes

(A) ABCA (B) AABB

(C) ABAB (D) ABBA

69. Identify the figure of speech in the given line:
Once upon a midnight dreary, while | pondered,
weak and weary,

While | nodded, nearly napping, suddenly there
came a tapping
(A) Metaphor
(C) Alliteration

(B) Assonance
(D) Personification

70. Till the goldfinch comes, with a twitching chirrup
A suddenness, a startlement, at a branch end

Then, sleek as a lizard, and alert and abrupt,

She enters the thickness, and a machine starts up
Of chitterings, and of tremor of wings, and trillings
The line ‘A suddenness, a startlement, at a branch
end’ of Extract 2 contains which figure of speech?
(A) Alliteration (B) Simile

(C) Personification (D) Assonance
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Direction: Read the passage carefully and answer
the questions that follow by selecting the
correct/most appropriate options.

Little drops of water,

Little grains of sand,

Make the mighty ocean

And the pleasant land.

Thus the little minutes,

Humble though they be,

Make the mighty ages

Of eternity.

Little deeds of kindness

Little words of love

Help to make earth happy

Like the heaven above.

71. The poem uses a rhyme scheme. Which lines of
the poem rhyme?
(A) Lines 1 and 2
(C) Lines2and 4

(B) Lines1and 3
(D) Lines3 and 4

72. Which choice best represents the message that
is in the poem?

(A) The minutes tick by slowly.

(B) Never underestimate the power of a child.

(C) Drops of water and grains of sand are very small.
(D) The small things are as important as the big
things.

73. The word HUMBLE in the poem most likely
means:

(A) large in appearance

(B) lower in importance

(C) a part of a larger whole

(D) too small to see with your eyes

74. “Like the heaven-above” is-an example of?
(A) Onomatopoeia (B) Simile
(C) Repetition (D) Personification

75. According to the poem as drops related to
ocean, minutes is related to?

(A) Past (B) Present

(C) Future (D) Eternity

76. “though they be” is an example of?
(A) Onomatopoeia (B) Alliteration
(C) Repetition (D) Personification

Directions: Read the given poem and answer the
guestions that follow by selecting the most
appropriate option.

Hope is the thing with feathers

That perches in the soul,

And sings the tune -without the words,

And never stops at all,

And sweetest in the gale is heard; -

And sore must be the storm

That could abash the little bird

That kept so many warm,

I've heard it in the chillest land,
And on the strangest sea;

Yet, never, in extremity,

It asked a crumb of me.

Emily Dickinson

77. In the line 'Hope is the thing with feathers' the
poet is using a/an
(A) imagery
(C) allegory

(B) simile
(D) hyperbole

78. The observation 'perches in the soul' refers to
human

(A) worries

(C) expectation

(B) disappointment
(D) spirituality

79. 'And sweetest in the gale is heard' means
(A) winds blow loudly during a gale

(B) sorrow is the greatest during a storm

(C) expectation of relief even in sorrow

(D) joy and happiness go hand in hand

80. 'Abash' means a sense of
(A) embarrassment (B)'hope
(C) loss (D) pride

81. 'Never, in extremity,' refers to
(A) extreme happiness | (B) longing excessively
(C) hope costs nothing | (D) unexpected

82. 'A crumb' is a metaphor for
(A) hope (B)'sadness
(C).reward (D) food

83. Which of the following words can be made
plural:by adding the suffix ‘ren’?

(A)YMan (B) Mouse

(C)yWoman (D) Child

84. Which conjunction will be the most appropriate
to join the following?
She is intelligent. She is diligent.

(A) so (B) although

(C)if (D) both ... and

85. What will be the masculine gender of ‘chicken’?
(A) rooster (B) stallion

(C) drake (D) boar

86. Find the grammatically correct sentence from
the following options:

(A) Neither the mother or the daughter have cooked
the meal.

(B) Neither the mother nor the daughter has cooked
the meal.

(C) Neither the mothers nor the daughter have
cooked the meal

(D) Either the mother nor the daughter has cooked
the meal.
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87. Identify the given sentence.

Robin has learned to play guitar.

(A) Complex (B) Simple

(C) Interrogative (D) Exclamatroy

88. What will be the feminine gender of ‘sheep’?
(A) ram (B) doe
(C) sow (D) ewe

89. Which of the following words does not have
silent letter/letters?
(A) mnemonic

(C) brush

(B) wreath
(D) hymn

90. Choose the correctly punctuated sentence:

(A) He said, “Why didn’t you send your application to
me?”

(B) He said; “Why didn’t you send your application to
me?”

(C) He said that “Why didn’t you send your
application to me?”

(D) He said : “Why didn’t you send your application
to me”

91. Fill in the blank with the correct word from the
given options.

Neither You nor | writting to do it.

(A) are (B) am

(C) was (D) were

92. Identify the type of following sentence:

The dog started barking so, the monkey ran away
and | couldn’t keep up, so | stopped.

(A) Simple sentence (B) Complex sentence

(C) Compound-complex sentence

(D) Compound sentence

93. Change the following sentence from
exclamatory to assertive sentence:
How wonderful the palace was!

(A) The palace was so wonderful.

(B) The palace was too wonderful.

(C) The palace.was very wonderful.

(D) The palace was wonderful.

94. Convert the speech of the given sentence:
Ravi said that he had not bought a scooter.
(A) Ravi said, “He did not buy a scooter.”

(B) Ravi replied, “I did not buy a scooter.”

(C) Ravi relied, “I didn’t buy a scooter.”

(D) Ravi said, “l didn’t buy a scooter.”

95. Complete the following sentence using the
correct linking device.

Lakhan has been playing cricket morning.
(A) for (B) since
(C) from (D) till

96. Pick out the tense in the following sentence:
Grandmother took the dog to the Corn field.

(A) Present continuous tense

(B) Future tense

(C) Past indefinite tense (D) Future continuous tense

97. What is the subject of the following sentence?
Vivekanand lived the life of an ascetic

(A) Vivekanand lived  (B) The life of an ascetic
(C) Of an ascetic (D) Vivekanand

98. Learning outcomes aim at

(A) output oriented learning

(B) achieving maximum levels of learning

(C) achieving minimum levels of learning

(D) ensuring all the competencies are acquired by
learners.

99. Identify the type of sentence given below:
Where will the world stand after the pandemic?
(A) Interrogative sentence

(B) Assertive sentence

(C) Exclamatory sentence

(D) Imperative sentence

100. Which of the following statement is correct?
(A) My Mother.will retire from service in amonth.
(B) My-Mother will retire from service by a month.
(C)-My Mather will retire from service lona month.
(D) My mother will retire from service of a month.
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1. A bicycle is moving on a straight road at a
constant speed. The wheels of the bicycle exhibit:
(A) circular and periodic motion

(B) circular, translational and periodic motion

(C) circular and translational motion

(D) translational and periodic motion

2. The presence of between the two
surfaces in contact causes friction.

(A) Hindrances (B) Hurdles

(C) Blocks (D) Irregularities

3. Acceleration due to gravity of a substance
depends upon its-
(A) Size

(C) Mass

(B) Shape
(D) None of these

4. If P, F and A represent pressure, force and area
respectively, then

(A)P =F/A
()P =F/A

(B)P = F/A
(D) P = F/A

5. “When a card placed over a tumbler is flicked
with the finger, the coin placed over it falls in the
tumbler”. According to which law this happens?
(A) Law of conservation of energy

(B) Newton’s third law of motion

(C) Law of Inertia

(D) Law of conservation of momentum

6. The gas pressure.is.caused due to

(A) Gas maolecules colliding with-each other

(B) Gas molecules colliding with the walls of the
container

(C) Heating of gas molecules

(D) Gas molecules reacting with each other

7. If the momentum of a body increases from 10
units to 25:units in 5 sec, then the force acting on it
is-

(A) 1 unit
(C) 3 units

(B) 2 units
(D) 4 units

8. An object weight 10 N on the surface of the Earth.
What would be its weight on the surface of the
moon?
(A)3.33N
(C)2.0N

(B) 2.50 N
(D) 1.67 N

9. “Curie” is unit of:
(A) Radioactivity
(B) Heat

(B) Temperature
(D) Energy
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10. Mica is used in cooking utensils because it is-
(A) good conductor of heat but bad conductor of
electricity

(B) bad conductor of heat but good conductor of
electricity

(C) good conductor of both heat and electricity
(D) bad conductor of both heat and electricity

11. One nanometer is equal to-
(A) 10710 metres (B) 1079 metres
(C) 1078 metres (D) 10~7 metres

12. A sound wave consists of 20 compressions and
20 rarefactions in 10 m length. The wavelength of
the wave is-
(A) 25 cm
(C) 75 cm

(B) 50 cm
(D) 100 cm

13. Identify vector quantities from the following.
(i) Speed (ii) Velocity

(iii) Weight (iv) Linear Momentum
(A) Only i, ii and iv (B) Only ii, iii and iv

(C) Only i, iii and iv (D) Only i and iii

14. When the temperature is increased the surface
tension of liquids:

(A) remains unchanged

(B) increases

(C) decreases

(D) increase only when the rise in temperature is
more than 25°C

15. Two resistances of 10 Q and 30 Q are parallely
connected in a circuit. Equivalent resistance of the
circuit will be:
(A) 20 2
()15 Q

(B) 40 Q
(D) 7.50

16: Which among the following pairs are Incorrectly
matched?

1. Acetic acid — Spinach

2. Oxalic acid — Vinegar

3. Lacticacid — Ant’s sting

4. Tartaric acid — grapes
(A) Only 2, 3"and4
(C)Only1,2and 3

(B)Only1,3and 4
(D)Only1,2and 4

17. Atoms of an element differing in mass though
possessing the same chemical properties are called
(A) Isotones (B) Isotopes

(C) Isobars (D) Isomers

18. A radioactive rare gas is

(A) Helium (B) Krypton

(C) Xenon (D) Radon

19. The radius of an atomic nucleus is of the order
(A) 1078 cm (B) 10719 cm

(C) 1073 cm (D) 107% cm

10. 3HH BT SYANT WHT IHM arel ga+9 & faar
AT § RIS IT B

(A) ST BT FATAAD © olfh [AEId BT Hardd o
(B) ST &T HATAD & b fAgld & GaTad ©
(C) 3™ 3R faegra <+ &1 garas @

(D) ST 3R fIgd IMI & FATSD &

11. T SAHIeR P W B
(A) 10710 Hiex (B) 107° Hrex
(C) 1078 Hiex (D) 1077 #Hiex

12. U &G T | 10 Hiex B &a18 § 20 %7 iR
20 A ¥ | IR B a9 o 2—

(A) 25 . (B) 50 <.

(C) 75 &Y. (D) 100 3.

13. fAmforRaa & afeer AR & ggg™ +} |
(i) Trfay (ii) T

(i) IR (iv) XRI® FaT

(A) DI i, ii AR iv (B) BT ii, iii 3
(C) Baat i, iii MR iv (D)@ i 3R jii

14. 519 qOEE # gfE BRMl 2 1 g8 e

(A) THET & B

(B) 93T &

(C) Tear &
%D)Wawﬁm%mwcﬁmw%ﬁ

15. 10Q 3R 30Q @ 2N IR AR ©7 A Th
giRuer # 9fS € I“uRue &1 FAged Uik 8Rm:
(A)20 Q (B) 40 Q

(@) 15 Q (D)7.5Q

16. fT=faRad # ¥ &9 & I g W A
ghfera 87

1. tRifed RIS (3rt) — drcelsd
2. 3ifqoiferd RIS (3r) — RIRar
3. oifde®d TR (3 1) — it &1 &

4. TRERST TR (377e1) — 3R
(A)®det 2, 3 3R 4 (B)dddl 1, 3 3R 4
(C)®deT 1, 2 3R 3 (D) dad 1, 2 3R 4

17. 5[ # =1 @fe a9 e Ton arel
Al @ URHTITST P BT ST 8-

(A) FEICT D (B) wrARenTf+T

(C) THATRS (D) AHTIIT

18. U% et getw I B

(A) Eifer (B) e

(C) S (D)X=

19. TRAIY] 1w 3 Brear &1 %9 o gar 82
(A) 1078 Y. (B) 10710 Y.

(C) 10~ 13 3=, (D) 10~° 3.
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20. Which one of the following takes place when
water transforms from liquid to gaseous phase?
(A) Size of the particles change

(B) Structure of the particles change

(C) Distance between the particles change

(D) The colour of the particles change

21. ‘Brine’ is

(A) common name of bleaching powder
(B) aqueous solution of chlorine

(C) saturated solution of NaCl

(D) aqueous solution of Na,SO,

22. In an element “X” value of z is equal to 17 and
mass humber equal to 37. What is the number of
neutrons present in its nucleus?

(A) 37 (B) 54

(C)17 (D) 20

23. Which one of the following non-metal is found
in liquid state?
(A) lodine

(C) Bromine

(B) Sulfur
(D) Phosphorous

24. Which of the following pairs of atomic numbers
represents elements belonging to the same group-
(A) 11, 20 (B) 12, 30
(C) 13,31 (D) 14, 33

25. Which of the following is not correct?

(A) A sigma.bond.is weaker than a pibond
(B)'A'sigma bond is stronger than.a pi bond

(D) A double bond is shorter than asingle bond
(D) A double bond:is weaker than a single bond

26. Which.of the following has maximum number of
atoms?

(A) 16 g of N,
(C) 16 g of CH,

(B) 16 g of CO,
(D) 16 g of O,

27. IUPAC name of CH;COOC,H; will be:
(A) Ethyl acetate (B) Ethyl ethanoate
(C) Methyl propanoate (D) None of these

28. In laboratory, ethylene and acetylene can be
distinguished by?
(A) Br,/H,0

(C) Tollens reagent

(B) KMn0,/OH®/H,0
(D) Fehling solution

20. fFfaRad & ¥ &9 A1 U 98 & W9 9
R A R g § g€ S 87

(A) BT BT AMBR g& ST © |

(B) ®YN dI AT §&et STl © |

(C) ®uil & 91 B T 98 W 7 |

(D) BUI BT [T g&et STl 2 |

21. ‘9189 ®

(A) RT USSR &1 ATERT A6
(B) TR T STl €T

(C) NaCl &1 |« °iel

(D) Na,SO, T STeildl ®rel

22.U% O “X”H 29 17 $ IRI6% IR w99
& 37 & TR B | 39 0D H Alog gl
P T fhay 87

(A) 37 (B) 54

(C) 17 (D) 20

23. fr=iforiaa # & B9 4 st aRe SraRRdm H
urft It 87

(A) IS (B) TierR

(C) STTEIT (D) BB

24. fAfoRaT | &/ oI 0 IRATY] §E&ATE U B
TIE N HeferT deat o1 gfAfifeRg He o—

(A) 11, 20 (B)12, 30

(C)13,31 (D) 14, 33

25. =g & @ @19 a1 v T8 82

(A) B R 9is U UTE 91 | HHOIR ©

(B)us R qie va Urg 9 W 1w worgd
(C) U 91 TS, Uhdl di~s & Blel 8Idl @

(D) U Tl a8 &I ol H U 9o 9IS BHAGIR
g

26. ffafad 9 9 & RN 31 den
fermad 87
(A) N, T 16 UTH
(C) CH, T 16 UTH

(B) CO, &T 16 UTH
(D) 0, T 16 U8

27. CH;COOC,Hs T IUPAC SITH ENTT:
(A) Uforer Teiice (B) UforeT uerHIge
(C) fersaT UAIUe (D) 399 W &Is -Tal

28. FARTIe ¥, Ufrel 3k vRifeeis & fas
ERT UST ST AT 87

(A) Bry/H,0 (B) KMn0O,/OH®/H,0

(C) Sfeiet FIfAHHB (D) BefeiTT faera
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29. IUPAC name of the following compound is-
CH3;— CH-OCH;
|
CHj

(A) 2-methoxy-2-methyl ethane
(B) 2-methoxy propane

(C) Isopropyl methyl ether

(D) 1-methoxy-1-methyl ethane

30. The monomer of natural rubber is-
(A) Neoprene (B) Isoprene
(C) Terylene (D) Orlon

31. The component of blood that prevents its
clotting in intact blood vessels is-

(A) antibody (B) heparin

(C) thrombin (D) haemoglobin

32. Match the following events in plants.

A. | Absorption of water i. | Xylem

B. | Absorption of minerals | ii. | Phloem
C. | Transport of water iii. | Root hairs
D. | Transport of minerals iv. | Epiblema

(A) A—iv, B—iii, C—ii, D—i
(B) A—iii, B—iv, C—ii, D —i
(C) A—iv, B—iii, C—i, D—ii
(D) A—iii, B—iv,C—i, D —ii

33. The source of oxygen liberated as byproduct
during photosynthesis is-

(A) carbon dioxide (B)water

(C) glucose (D) chlorophyli

34. Change in the base sequence within.a geneis
called-

(A) Mutation
(C) Fission

(B) Cloning
(D) Breeding

35. Viviparous germination of seeds occurs in
(A) mango (B) rhizophora
(C) potato (D) sugarcane

36. The excretory product of earthworm is-
(A) only Ammonia and Uric acid

(B) only Urea and Amino acid

(C) only Amino acid

(D) Ammonia, Urea and traces of creatinine

37. Which of the following pigments is associated
with the germination of seeds?

(A) Phytochrome (B) Plastocyanin

(C) Chlorophyll (D) Xanthophyll

CH3— CH-OCH

29. 0 ) fmafaea dffe @ snsgdied
CH;

GG

(A) 2—HelTRN—2—fHerrs e 59
(B) 2—HeITeReT Uo=

(C) rsaITs el Aesel $oR
(D) 1—HITRI—1—fAeTse 399

30. U Y& &I Udhdld HIF 87
(A) Fram (B) ST
(C) RNl DEISIE

31. %G PT 98 USPH Ol e Yo dIRBel § 59D
JFH B I | T g—
(A) TEETST /ufarell (B) RRURH

(C) enfra= (D) BHRAIfa

32. Uit # f=forfRaa seAmsh &1 e R |
A. | ST T I[Ny i. | Sllgo™

B. | WSl &7 3raenyor ii. | FoTUH

C. | 5T &1 gRgs iii. | go1 I

D. | WSl BT uRde iv. | Jellg <=

(A) A —iv, B—iii, C—ii, D =i
(B) A —iiiii, B=iv, C—ii, D=|i
(C)A—iv,B — i, C= i, D—ii
(D) A= i, B—iv, C—i; D —ii

33, UPHIY. HIAYUT P SRM fhasd gRT ifrfie=
U & ®U H qad sl 87

(A) FTEH STZIFRARS  (B) ST

(C) T[T (D) FARI

34, 7% o9 & Aok SR A H Rac &
HTT oI 37
(A) SURFTT
(C) faEre

35. §I5il BT RIS SigRoT frad grar &7
(A) 31T (B) RETSSIBIRT
(C) 3fTe], (D) =T

36. AT BT SO SAE |

(A) Daa JMAT IR IRF RIS

(B) Baet IRAT 3R 3T TR

(C) ®act AT TRTS

(D) IR, IRAT R fhufef@ & fem

37. ffafea 4 9§ a9 41 9vie 9IS & 3G |
wefta 87

(A) BTICTRIH
(C) FARI e

(B) ufcrsygor
ESEE

(B) iR+
(D) Senfthet
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38. In plants, the asexual reproduction through
seeds is known as:
(A) Parthenocarpy
(C) Polyembryony

(B) Apomixis
(D) Xenia

39. Which organisms belong to the kingdom of
Protista?

(A) Unicellular and eukaryotic

(B) Unicellular and prokaryotic

(C) Multicellular and prokaryotic

(D) Multicellular and eukaryotic

40. To determine the health of a water body, what
is measured?

(A) Dissolved Oxygen  (B) Dissolved Fluorine

(C) Dissolved Methane (D) Dissolved Calcium

41. The coding segment of DNA is called
(A) Muton (B) Intron
(C) Codon (D) Exon

42. In the nineteenth century, came up with

the idea of evolution of species by natural selection.

(A) Johann Mendel
(C) John Dalton

(B) Johann Dobereiner
(D) Charles Darwin

43. Which one of the following is not a non-
communicable disease?
(A) Hypertension

(C) Rickets

(B) Arthritis
(D) Cholera

44. Which of the following type of carbohydrates
used in'the preparation of deserts and also as a
food preservatives?

(A) Monosaccharides.. (B) Disaccharides

(C) Polysaccharides (D) Both (A) and (B)

45. Name of the harmone which is at the peak
during ovulation-

(A) Estrogen (B) FSH

(C) LH (D) Progesterone

46. Which of the following is moving skull bone?

(A) Femur (B) Mandible
(C) Atlas (D) Tibia

47. Hippocampus is a

(A) Protochordate (B) Fish

(C) Mammal (D) Coelenterate

38. Uil #, 57 & A" 9 el YT Bl b
w9 § ST S R

(A) TTeT=TRTY (B) At

(C) Tl (D) Stif~rm

39. MifeweT fhrew & Wl &4 4 g 87
(A) THBIRTOT 3R JabRaAmed

(B) T IR 3R MaRAfes
(C) SgIRa 3R U Ralfes

(D) FBPIRMBIT AR o RAfCH

40.T% oid e & w@ed &1 AR &1 &
fore, «ar wr9r rar 27

(A) faafeT siferfls= (B) fAafed we@ike

(C) farafea #rem (D) faefed Bfeeraw

41. DNA B DIfST TS B FAT HEl oIl &

(A) SeUTT] (Rger) (B) SHI<Iveh ($7eXI)

(C) Udhe (Prem) (EESECENIE)

42. I=IrEl Tt H, WGP = AR
yonfaal & e & RaR & arr 3w oy

(A) STiETT Heel (B) S8 -SIa¥IR

(Q) SII Slee (D) =TexT ST

43. fAfaRad § ¥ BT 91 T IR—FTRT [T T8
27

(A) Sz e (B) e

(C) X (D) BT

44. Fr=fafaa § § 319 91 Prefese Ao T
# 3R W WRed $ WU A ggad fHar o 87
(A) FFRIBISS (B) SRRIBIZS

(C) Ui ishTES (D) (A) 3R (B) =Tt

45. BEIF ®T M S VST & SR o9 W)
BaT 8-

(A) TETSIA (B) THUHTH

(C) TeTT™ (D) HTOIRCRTH

46. @IS o gSfSA § A DT A TSI TATIHHA
Il &7

(A) BIFR (B) wifvsfae
(C) Ve (D) fefaam
47. RudTy e 8

EISEISH (B) HBAT
(C) U (D) R ge
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48. Match List — | with List — Il and select the correct

48. A1 BT -1 & T e g iR =

answer from the codes given below: Ry oel # @ ¥ IR &1 =9 BRI

List — I (Hormone) List — Il (Function) ?Iv'l’f—l GRlE)) A1l (Br)

A. | Aldosterone 1. | Maintains female UGSIECRM | 1. | Afgell & gfddgd o
secondary sex ENERICI IR RINESERI
characteristics 2

B. | Estrogen 2. | Controls circadian B. | T&ioH 2. | gy o9 &
rhythm BT &

C. | Melatonin 3. | Salt-retaining hormone C. | e 3. | <1997 YiquRor e

D. | Progesterone | 4. | Sustains the pregnancy D. | gor e a TR BT ST T s

(A)A-4,8-2,C-1,D-3 (AJA—4,8B-2,C-1,D-3

(B)A-4,8-1,C~2,D-3 (B)A-4,B-1,C-2,D-3

(C)A-3,B-2,C-1,D-4 (C)A-3,B-2,C-1,D-4

(D)A-3,8-1,C-2,D-4 (D)A—3,B-1,C-2,D—4

49. Which is the aquatic bryophyte?
(A) Marchantia polymorpha

(B) Riccia fluitans

(C) Marchantia palmate

(D) Riccia discolor

50. Chemical name of vitamin E is-
(A) Thiamine (B) Phylloguinone
(C) Calciferol (D) Tocopherol

51. The cost price of two dozen bananas is Rs. 96.
After selling 18 bananas at the rate of Rs. 36 per
dozen, the shopkeeper reduced the rate to.Rs. 24
per dozen. The percent of loss is?

(A) 35% (B) 31.25%

(C) 33.33% (D) 40%

52. A spider climbed 62 % % of the height of the
pole in our hour and in the next hour it covered
12- % of the remaining height. If the helght of the

pole is 192 m, then distance climbed in 2™ hour is:
(A)3m (B)5m
(CQ)7m (D)9 m

53. The ratio of P’s to Q’s salary is 5 : 7. If Q’s salary
is increased by 35%, his total salary becomes Rs.
52,920. What is the salary of P?

(A) Rs. 27350 (B) Rs. 28000

(C) Rs. 23000 (D) Rs. 17260

54. A man sells an article at a profit of 20%. If he
bought it at 20% less and sold it for Rs. 75 less, he
would have still gained 25%. Find the cost price.
(A) Rs. 375 (B) Rs. 325

(C) Rs. 350 (D) Rs. 360

49. STl STATBISST D19 9T 87
(A) AT dieMRWT  (B) Rfdwam defc~

(C) Hepfear urder (D) RfevTam fewper
50. faeIff E &1 TS W 2=

(A) =TI (B) WIS AT dasie

(C) ediwhRlel (D) STpTHRT

51. €1 UM DAl BT NI o9 969, © | 36 ©. R

TG Pl <R | 18 Pl SN, B FIS, GHFCR DAl
BT I B Y B 24 . T GO B <l B, @

's'lﬁramri%masimaﬂm?

(A) 35% (B) 31.25%

(C) 33.33% (D) 40%

sz.qzﬁqm“rwa%ﬁwu‘laz%&%%“ﬁs‘
TP dgdl & IdT 3T U Ee H AV SHATS Bl
12%%aﬁaﬁﬁluﬁuﬁaﬁ“ﬁ1§1gzﬁr.%

o TN HS H T T g &

(A) 3. (B) 5 #I.

(C) 7. (D) 9 .

53.P AT QP a9 BT 5:78 3 QD
a0 # 35% 1 gfE B B, o SHBT FoT daT
52,920 %. B AT €, a7 P T a1 ST N7

(A) 27350 %. (B) 28000 .

(C) 23000 %. (D) 17260 %.

54. U Afdd fhell avg BT 20% M RS9 2|
IfT 98 T 20% HH PHT W EEEal AT 39 .
75 ¥ H qoar A W S 25% BT A AT axg
BT H Hod IaTZY |
(A)375 .
(C) 350 %.

(B) 325 %.
(D) 360 .
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55. A person buys a TV set which is listed at Rs.
15000 and gets two successive discounts of 20% and
10%. He spends 5% of the CP on transport. At what
price should he sell to get a profit of 15%?

(A) Rs. 13252 (B) Rs. 13041

(C) Rs. 13125 (D) Rs. 13345

56. A farmer borrowed Rs. 2400 at 12% interest per
annum. AT the end of 2 % years, he cleared his

account by paying Rs. 1200 and a cow. Find the cost
of the cow.
(A) Rs. 1820
(C) Rs. 1920

(B) Rs. 1720
(D) None of these

57. The interest on a sum of money at the end of 8
years is % of the sum itself. The rate percent of
interest charged was:

(A) 5% (8) 5%

(C)52% (D)55%

58. A man borrows Rs. 3000 at 10% compound rate
of interest. At the end of each years he pays back
Rs. 1000. How much should he pay at the end of the
third year to clear all his dues?

(A) Rs. 1680 (B) Rs. 1681

(C) Rs. 1682 (D) Rs. 1683

59. In a circle of radius 17 cm, two parallel chords
are drawn on.opposite sides of a diameter. The
distance between the chords:is 23'cm. If length of
one chord is. 16 cm, then the length of the ‘other is
(A) 15 em (B) 23 cm

(C) 30icm (D) 34 cm

60. The volume of a cuboid is 1120 cm® and its
height'is 5.cm while the length and the breadth of
the cuboid are in the ratio 8 : 7. The length of this
cuboid exceeds the breadth by

(A) 2 cm (B) 4 cm

(C)7cm (D)5 cm

61. Length of a rectangular blackboard is 8 m more
than of its breadth. If its length is increased by 7 m
and its breadth is decreased by 4 m, its area
remains unchanged. The length and breadth of the
rectangular blackboard is.

(A)24 m,16m (B)20cm, 24 m
(C)28m,20m (D)28 m, 16 m

55.Td A 7 . 15000 & 3ifdhd Jog aTd T
. AT BT QY BB B 20% TAT 10% B AT
GRAZAT T | 98 IR W $H9S HIT BT 5%
Y PRAT © A1 98 39 59 I N 99 & 15% 7
™ 817
(A) 13252 .
(C) 13125 %.

(B) 13041 %.
(D) 13345 .

56. U%h A ®. 2400 @I AR 12% ATIROT TST
W SR I ¥ 25 I B 3T F T7 90T T .
1200 TRIT T T Q&R GHT <l & o T B
P &
(A) 1820 %.
(C) 1920 %.

(B) 1720 .

(D) 578 ¥ BIg &I

57. Y% YRIYT WR 8 quf @ 3id § AR =T,
SRIRN T 2 B I § A o 8 @
wfoera ®:

(A) 5% (8) 57 %

(C)52% (D)53%

58. T _STSHl . 3000, 10% Tshgly TSl @ &% W
SYR o1& | 98 JAD a8 D/ &l | %5, 1000 I
g arEN a¥ & 3 H 98 fba wuar geg &
IHHT Hot T Bl g2

(A) 1680 %. (B) 1681 .

(C) 1682 %. (D) 1683 %.

59.17 I 3501 & T g # I A} = D
L SR G T 7| Sharel @ d @ o 23
9. 71 It Nar 31 s 10 . B, A G
P TS -

(A) 15 4. (B) 23 3.

(C) 30 &Y. (D) 34 Y.

60. T T BT IAMAT 1120 89 G 3R 9!
SIS 5 J41. B SEfd g9 B TS 3R Arers
BT AU 8 : 7 T| S TN B 9IS, AlSlg 4
favarr e 87

(A) 2 4. (B) 4 3.

(C) 7 3. (D) 5 &Y.

61. U IMAAPR TTHUCE P! TH=Tg sHD! AT
¥ 8 M. ¥ 7| A g9 dag A 7 M. P gfG
IR AeE H 4 M. HT HA B WY A SHBT ATABA
aRafia I&ar 8 | SMUAeR WHUCE @ AW

IR A 8-
(A) 24 91, 16 #I.
(C) 28 #I,, 20 H.

(B) 20 T, 24 #.
(D) 28 1, 16 .
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62. A roller 150 cm long has diameter of 70 cm. To
level a playground, it takes 750 complete
revolutions. The cost of leveling the playground at
the rate of Rs. 2 per mis.

(A) Rs. 5000 (B) Rs. 2950

(C) Rs. 4500 (D) Rs. 4950

63. The following results are written in ascending
order. If their median value is 69, find the value of
n.

59,62,65,n,n+2,72,85,94

(A) 63 (B) 65

(C) 68 (D) 71

64. Find the standard deviation of the number
distribution given below.

C.1.|90 -94|85-89|80-84|75-79|70 - 74|65 - 69|60 - 64

f] 2 3 5 8 6 3 3
(A) 8.10 (B) 11.10
(C) 9.10 (D) 10.10

65. The equation whose roots are 4 and 5, is
(A)x>+9x—20=0 (B)x>+9x+20=0
(C)x2—9x+20=0 (D)x>—9x—20=0

66. If the sum of the squares of roots of the
equation x? + 2x — p = 0 is 10, then the value of p
will be -
(A)-3 (B)3
(€)6 (D)-6
. 4V 3 @GR .
67. Coefficient of x*/in (E — x—z) is
(A)405/226 (B) 504,/289
(C) 450/263 (D) None of these

68. Two dice arethrown simultaneously. The
probability of obtaining total score of seven is
(A)5/36 (B)6/36

(C)7/36 (D) 8/36

69. A bag contains 3 red, 4 white and 5 blue balls.
All balls are different. Two balls are drawn at
random. The probability that they are of different
colour is
(A) 47/66
(€)1/3

(8) 10/33
(D)1

62. 7% 150 ). T AR BT AN 70 AL 2
Tl & AGM B G B D Y Ig 750 AFHR
AG I . 2 9 o A, H R F A ) G
P B DIHT 27
(A) 5000 .

(C) 4500 .

(B) 2950 .
(D) 4950 %.

63. fe=iferRaa aRum RIS % & ford v €1
9% AIfSTHT BT A9 69 B, A n®I 9 A1d
DI |

59, 62, 65, n, n + 2, 72, 85, 94

(A) 63 (B) 65

(C) 68 (D) 71

64. ¥ Ay U p—fAaRYT &1 9P faae= s
DI |

C.1.|90-94|85-89|80-84|75-79|70 - 74|65 - 69|60 - 64

f 2 3 5 8 6 3 3
(A) 8.10 () 11.10
(C) 9.10 (D) 10.10

65.f 7 9 e Thayor & a1 4 3R 6537
(A)x?> +9x—20=0 (B)x*>+9x+20=0
(C)x?=9x+20=0 (D)x>—9x—20=0

66. < THIHRIT x2 +2x—p =0, Al & T
$I AT 10/, @ p BT A BNI—

(A)=3 (B) 3

(C)6 (D)-6

67. (%—%)mﬁ x~* T IOTIP FAT ET—

(A) 405/226 (B) 504/289

(C) 450/263 (D) 374 & P el

68. 7% WRT T U B& O & | o 91 3id I
B D FHET B
(A)5/36

(C)7/36

(B) 6/36
(D) 8/36

69.TH T ¥ 3 oflcl, 4 T AR 5 el I 2eh
g1 R AT o &1 §1 9 @ A agfes wu A
frprelt oIl €| Y SBT3 T BT B B
WIS S BN |
(A) 47/66
(C)1/3

(B) 10/33
(D) 1
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70. The area of a triangle with vertices at (— 4, - 1),
(1,2)and (4,-3)is

(A) 17 (B) 16

(C) 15 (D) 18

71. Distance between the lines5x + 3y —7 =0
and 15x + 9y + 14 =0iis

35 1
(A)E (B) @
(C) EWET (D) PN

Directions (72 — 75): The given bar graph shows the
number of employees of a company working in six
departments, namely A, B, C, D, E, F study the bar
graph and answer the questions that follow.

No. of employees working in six
18 departments of a company
16 -
w14 -
o
g_12 .
2_10 .
o 8-
[T
° 6 -
2 4
2 | E
0 .
A B C D E F
Departments

72. Which Department has the second highest
number of'employees?

(A) E (B)A

(CD (D) F

73. If 5 employees are transferred from department
A to department F, then number of employees in
department F would be between those of which
two departments?
(A)Band C
(C)DandE

(B)Aand E
(D)CandE

74. If departments F and D are merged to create a
new department G, then which department will
have the least number of employees?

(A)G (B) F

(D (D)B

75. If the average salary of these employees is Rs.
8,000, then how much was the company’s expenses
(in Rs. Lakhs) towards salaries?

(A) 4.86 (B)5.12

(C)3.24 (D) 5.88

70. 99 R[S &1 &a%el a1 81 foraes MY e
(-4,-1),(1,2) 3R (4,-3) &
(A) 17 (B) 16
(C) 15 (D) 18

71. %GR 5x + 3y —7 =03R15x + 9y + 14 =0
o 99 I I W

35 1
A 73 (B) 3753

35 35
RNeT )z

fader (72 - 75): fear ™7 <% 3o B: AW,
3rIfq A, B,C, D, E FH B IR W HI B
FHAIRAT B G=T foarar 21 €S 3o &7 Seaa=
PN AR D T1T Y Ty D SR |

THh 9l H Og (AN AT FH T @
18— wAORA FrFEAwT

14 -
En
4310-
4= 8 -
6 -
4
2 I
0_
A B C D E F

faramer
72. {9 fPTT # HHaRAl & gud if¥ean G
27

(A) E (B) A

(C)D (D) F

73. 3¢ 5 HHARAT B RITA S fIRT F H
RIFIART fhar Sirar 8, O 9T F & SsH=nRay &

=T 4 < {9 & §= 8P
(A) B3R C (B) ASIRE
(C) DIIRE (D) C3RE

74. 3¢ fI9RT FIR D&Y T =T AT G99 &
fory faerg o fear wr &, o e Rvrr 3

FHTAIRET B HEAT gAaH BRf?
(A)G (B)F
(D (D)B

75. Ife 391 HHARAT BT 3T I 8,000 . &, T
a9 ¥ PU BT @ (g w. §) fbasr s

(A) 4.86 (B) 5.12

(C) 3.24 (D) 5.88
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Directions (76 — 79): Study the given pie chart
carefully to answer the questions.
A company has 6 partners and below pie chart shows
the percentage of share of investment by six
partners.

Total investment = Rs. 50 lakhs

Share %
mA mB mC mD BE BF

76. Which partner has the lowest share?
(A)C (B)B
(C)D (D) F

77. Share of E is equal to the combined shares of
(A)F,Aand B (B)D,CandB
(C)A,Band C (D)F,Cand D

78. Ratio of shares of E and B to those of A, C, D and
Fis

(A)1:2
(©)1:1

(B)2:1
(D)1:3

79. If the company earns Rs. 20.lakh profit, and
decides to distribute half of it to its shareholders,
how much does D (in Rs: lakhs) get?

(A) Rs.1.5 lakhs (B) Rs. 2.5 lakhs

(C) Rs. 0.3 Iakhs (D) Rs. 2 lakhs

80. If Sec A + Tan A =4, then the value of (Cot A +
1)/(Cot A—1)is
(A) 65/8
(C)17/19

(B)—23/7
(D) 11/16

81. Find the value of
[tan60°cosec30° + tan30°sec60°]/[sin’60° + 2cot’45°
- sec’30°]

(A) (16V3)/7 (B) (32v/3)/17

(C) (32V3)/7 (D) (16v3)/17

82. If tan0O = g, then the value of % is
(A) 1/2 (B) 3/4

(€)3 (D) 3/2

fader (76 — 79): Ry ¢ ye=i & SR <1 @ forg Ry

Y § -3 ST Y Saa Hifor |

UH HUA & 6 ARRR © AR 1 g -3 88

AR gaRT fhd v fae & @ gforerd &l

<ot 7 |

H 99 = 50 TG FRA
fowam %

EA mB mC ED BE BF

76. frd A=ITR &1 R\ 999 &4 87
(A)C (B) B
(C)D (D)F

77. E@1 e T # 9 fvae 9g@0 R D
TRER 87

(A) F, AR B
(Q)A, B3R C

(B) D, C3IRB
(D)F, C 3D

%8.E3ﬂ'\'Bﬁ€’JTA,C,D3ﬁi’ Fo fowdl &1 arqura o
?

(A)1:2 (B)2:1

(€21 (D)1:3

79. & DU 20 T HUY BT 9 AT Beh 2,
IR TS GEIERI & S9HT T e faafka
B BT DA BT 8, O DD fham (g T

¥) fAemr &8?
(A) 1.5 99 . (B) 2.5 oI .
(C) 0.3 oY . (D) 2 TG .

80. Il Sec A+ Tan A=4 g, Ol (Cot A + 1)/(Cot A -
1) T 99 T 27
(A) 65/8

(C) 17/19

(B) - 23/7
(D) 11/16

81. [tan60°cosec30° + tan30°sec60°]/[sin’60° +
2cot?45° — sec’30°] HT M A HIFOTS?

(A) (16v3)/7 (B) (32v/3)/17

(C) (32v3)/7 (D) (16v3)/17
:;;f?tane =28, AN g A
(A) i/2 (B) 3/4

(€3 (D) 3/2
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83. The vertex angle of an isosceles triangle
measures four times the sum of base angles. Find
the measure of base angle.

(A) 144° (B) 18°

(C) 36° (D) 43°

84. For the figure given below, find the angle OAB
(in degrees).

(A) 25°
(C) 75°

(B) 50°
(D) 90°

85. In this rectangle ABCD, the value of 2x + y is:

'JZX + 25°

3y - 45°

.

(A) 95°
(C) 30°

(B) 110°
(D) 135°

86. AB is diameter of circle with centre at O. DCiisa
secant that passes through the circle at points E'and
F as shown, such that DC||AB. If ZBAF = 30°, then
£AED is equalto:

Al B

\

D E~——— F [
(A) 120° (B) 60°
(C) 90° (D) 30°

87. In the figure, chords AB and CD of a circle
interect externally at P. fAB=4cm,CD =11 cm and

PD = 15 cm, then the length of PB is:
B
A

(A) 10 cm
(C) 8 cm

(B) 12 cm
(D) 14 cm

83. U HHfga1g [T &1 ¥ ST I6S MR
DN B ANT BT IR IAT 2 | R PIT BT AT
Sd PR |
(A) 144°
(C) 36°

(B) 18°
(D) 43°

84. < {1 g M@ @ fIY, IvT OAB HT 19
(et #) sma S|

(A) 25°
(C) 75°

(B) 50°
(D) 90°

85. §H 3Id ABCD #, 2x.+ y &T A9 JT §°

‘J2x + 25°

3y - 45°
f-

(A)95°
(C) 30°

(B).110°
(D) 135°

86. AB U I &1 RT3 foraedr = 07| DCTH
BEH NI § o) I B a5 E3NR F 1) 59
YBR ol 3 & DCIIAB ST @1 fe@mn [ 2
I £BAF=30°T9 £AED &T A 87

AT B
D E ~——F Cc
(A) 120° (B) 60°
(C) 90° (D) 30°

87. MG H, T& g1 & SifaT AB 3R CD TH—ga
& 90 wU 9 fag PR yforfd wxa &1 IR
AB= 4 ¥l cD= 11 ¥ 3k pD= 15 I, §,
?ﬁPBaﬁﬂﬁT&;W%B?

A

(A) 10 .
(C) 8 3.

(B) 12 3.
(D) 14 Y.
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88. E is a point inside the quadrilateral ABCD where
DE and CE is the angle bisector of 2D and 2C
respectively. If 2B is 82° and £DEC is 80°, then find
the £A.

(A) 84° (B) 78°

(C) 81° (D) 75°

89. Ifil = 2+/7, then, what is the value of x% — x—lz?
(A) 2\/_ (B) 4v/21

(C) 428 (D) 442

90. If 27x3 — 8y3 = (Ax + By)(Cx? — Dy? +
6xYy), then the value of (A + B + C +D):

(A)6 (B)3

(01 (D)0

91. For what value of p, the system of equation
17x+ 7y = 18 and 51x + 21y = p represent,
coincident lines?

(A) 36 (B) 54

(C) 34 (D) 51

92.If x \/\/: i g ndy = \/\/: \/‘/: then find the
valueof x +y

(A)7.5 (B) 8

(C)8.5 (D)9

93. A bartender has three kinds of drinks of
quantities of 204, 238 and 306 litres. The Tender
wants to pour them into minimum number of
containers of equal capacity without mixing. Find
the capacity.of 'each container.

(A) 55 liter (B) 64 liter
(C)34 liter (D) 44 liter
94. 218 — 1 js divisible by:

(A) 13 (B) 11
(C)7 (D) 17

95. What is the.unit.digit in 274123 + 972716 4
123456 js:

(A)1 (B)3

(C)2 (D)6

96. Find the total number of factors of 723 + 722 +
721 + 720

(A) 160 (B) 315
(C) 325 (D) 120
1 1 1
7. soxzi T2z Tzxzz T Tioxazo
(A)1/24 (B) 5/20
(C) 3/23 (D) 1/15

88. E, IqHST ABCD & 3SR & fa=g T ofef DE SR
CE HI: «D 3R 2C D DIV FAfgHSIS & | IfT B,
82° € 3R ~DEC, 80° ®, T £A T HIFIY?

(A) 84° (B) 78°

(C) 81° (D) 75°

sg.uﬁq*%lzzﬁ%, a’rxz—x—lzwrm?rsnﬁ
HIfOTY?

(A) 24/18 (B) 421
(C) 428 (D) 442

90. afg 27x3 — 8y® = (Ax + By)(Cx? — Dy? +
6xy) 8, (A +B+C+D) BT A S IO |
(A) 6 (B)3

(€)1 (D)o

91. p & & w9 B oIy, TR 7x + 7y = 18
AR 51x 4 21y = p UK Y@ B <N 27
(A) 36 ()54

(C) 34 (D)51

i
92.afd x = Y F Sﬁ'\’ \/_+\/_% dra + y

BT A3 Hﬂ'ﬁl‘?l
(A)7.5 (B).8
(C)8.5 (D)9

93. U §RCSY H 204, 238 31X 306 ofieX &Y A=

P M UPR @ UG 80 8| 98 S fa1 fAsor &
AT P BRI A ST A & | TD
Y EHAT BT Il S |

(A)-55 ¢flex (B) 64 ofex

(C).34<ex (D) 44 ofex

94. 218 _ 1 fHraw fowrsy &

(A) 13 (B) 11

()7 (D) 17

95, 274123 4 972716 4 123456 § 3H[Y 3P &
(A) 1 (B)3

(C) 2 (D)6

96. 723 + 722 4+ 721 + 720 % g eHES] B
T S BT |

(A) 160 (B) 315
(C) 325 (D) 120
1 1 1
97 soxz1 T2z T2zxzs T F Tioxaze —
(A)1/24 (B) 5/20
(C)3/23 (D) 1/15
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98. If 4* = 512, then 4**~6)+3/2 =9

(A)1 (B) 4

(C) 16 (D) 64

99. Simplify: (48)% — (?)? = 4694 — 3066
(A) 16 (B) 26

(C) 36 (D) 24

100. If x* = 4355, then
(A) 65 < x < 66 (B) 220 < x < 225
(C)25 < x < 26 (D) 22 < x < 23

1.(8) | 2.(p) J+3.(D) | _4.(B) | 5.(C)

98.gfe 4* = 5128, a1 4-0+3/2 — 7 o7 g R
BRIT?

(A) 1 (B) 4

(C) 16 (D) 64

99. (48)2% — (7)? = 4694 — 3066 BT AATHIUI
cadl

(A) 16 (B) 26

(C) 36 (D) 24

100. If¢ x2 = 4355, A
(A) 65 < x < 66
(C)25 < x <26

(B) 220 < x < 225
(D) 22 < x < 23

JUNIOR S-TET Science & Math Sheet

Answer Key

6. (B) 7.(C) 8.(D) 9.(A) 10..(A)

11.(B) |-12.(B) | 13.(B) | 14.(C) | _15.(D)

16. (C) | 17.(B). | 18.(D) | .19.(C). | 20.(C)

21.(C) | 22.(D) |.23.(C) |"24.(C) | 25.(A)

26.(C) | 27.(B) | 28.(C)"| 29:(B) | 30.(B)

31.(B) | 32.(D) |.33.(B) | 34.(A) | 35.(B)

36. (D) | 37.(A)| 38.(B) | 39.(A) | 40.(A)

41. (D) | 42.(D) |43.(D) | 44.(B) | 45.(C)

46. (B) |".47.(B) | 48.(D) | 49.(B) | 50.(D)

51.(B)"|-52.(D) | 53.(B) | 54.(A) | 55.(B)

56.(C) | 57.(A) | 58.(D) | 59.(C) | 60.(A)

61.(C) | 62.(D) | 63.(C) | 64.(A) | 65.(C)

66.(B) | 67.(D) | 68.(B) | 69.(A) | 70.(A)

71.(C) | 72.(A) | 73.(A) | 74.(D) | 75.(B)

76.(A) | 77.(A) | 78.(C) | 79.(D) | 80.(B)

81.(B) | 82.(C) | 83.(B) | 84.(C) | 85.(B)

86.(B) | 87.(A) | 88.(B) | 89.(D) | 90.(A)

91.(B) | 92.(A) | 93.(C) | 94.(C) | 95.(A)

96.(B) | 97.(A) | 98.(A) | 99.(B) | 100.(B)
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1. Who among the following conceived the Kakori
train robbery in 1925?

(A) Baikuntha Shukla

(B) Manmath Nath Gupta and Matangini Hazra

(C) Ubaidullah Sindhi

(D) Ram Prasad Bismil and Ashfaqullah Khan

2. Mahatma Gandhi supported which presidential
candidate in 1939 against Subhash Chandra Bose for
INC president elections?

(A) C Rajgopalachari (B) P Sitaramaiya

(C) Radhakrishan (D) Jawahar Lal Nehru

3. Name the Commission that came to India in 1928
to reform India’s constitutional system.

(A) Hunter commission (B) Pitt’s India Act

(C) Partition of Bengal (D) Simon Commission

4. What is the minimum age requirement to
become a Member of the Legislative Assembly?
(A) 32 years (B) 42 years

(C) 20 years (D) 25 years

5. Finance and Staff Committee of constituent
assembly was headed by

(A) Jawahar Lal Nehru (B) Sardar Patel

(C) B.R Ambedkar (D) Rajendra Prasad

6. Which of the following is the Floating National
Park of India?
(A) Namdapha
(C) Eravikulam

(B) Similipal
(D) Keibul Lamjao

7. The Tropic of Cancer passes through how many
countries?

(A) 7 Countries
(C) 16 Countries

(B) 12 Countries
(D) 21 Countries

8. Zoji La pass connects which of the following?
(A) Kashmir to Jammu  (B) Kashmir to’Kargil
(C) Leh tosSrinagar (D) Leh to Kargil

9. The smallest island country in the Indian Ocean is
(A) Maldives (B) Sir Lanka
(C) Mauritius (D) Madagascar

10. Which is the state with the lowest population in
India?

(A) Goa

(C) Mizoram

(B) Tripura
(D) Sikkim

11. The giant storm named Great Red Spot is
associated with which planet?

(A) mercury (B) Venus

(C) Mars (D) Jupiter

1. ffofad # @ f&Eq 1925 # SR ¢ o o
LEUEIRE 11

(A) 33 ot

(B) AT [ iR AGR BT9RT

(C) Sdgear el

(D) XM yuTE faR¥al 3R 3ThTd Soalie W

2.1939 ¥ IR T FHUT B 3T Ug B
g1e & forg Here T 4 gu I 99 @ Ivg

foa Selicar &1 wwel fHar on?
(A) Y TSTTOTTERT (B) WY fiarEan
(C) TR (D) STATER ofTel 8%

3.1928 ¥ WRA ¥ A SH HAYH & IM FAY
e SeeT WRA & WS aen A JuR

AT AT |
(A) EexX HHIIH (B) g sfear vae
(EUICRERINE] (D) \ATSHH BRI

4. e | o1 e TR e oy wgeEaw
fas B arfey? B

(A) 32 WTet (B) 429717

(C) 20 Tt (D) 25 Tet

5. GfaE ¥ @) o /iR ) afafer P
g H of|

(A) STATER 1T 8% (B) ¥RGR Ucd

(C) 1. AR, g} (D) oiE TS

6. Fr-ifeiieT & & MRA &1 SH—9T UTd U xal
T3 Yl U 57

(A) THSTHT (B) Rysetiuret

(C) QRIfarepera (D) BTG ATHISN

7. %% @1 fHaw <9l | BHY o 87

(A)7 <ol 9 (B) 12 2o ¥

(C) 16 T & (D) 21 <9 &

8. SfSTelr <=f fA=iforRaa & 9 f5a Sirear 27

(A) PR A T (B) PR ¥ HRATA

(C) T8 ¥ R (D) ol ¥ BRAT

9. f< A8MIFR ¥ HaQ BIel Y- SI9—4r1 27
(A) HTeTeTd (B) #iefe

(C) HiereTs (D) AT

10. YRA BT I9Y HH JEST ITAT ST DI AT 87
(A) T3 (B) Frg=r

(C) FAeiRe (D) Rt

11. 9T VS Wi IM & fdena e faa 8 9
ST 27

(A) g (B) Isp

(C) 5Tt (D) gt
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12. Which of the following rivers flows towards the
Arabian Sea?

(A) Narmada (B) Tapi

(C) Periyar (D) All of the above
13. Hirakud Dam is located in which state?
(A) Odisha (B) Assam

(C) Jharkhand (D) None of the above

14. Who presented the first Union Budget of
independent India?

(A) Morarji Desai

(B) Dada Bhai Naoroji

(C) R. K. Shanmukham Chetty

(D) John mathai

15. Company rule in India was transferred to British
Crown in-
(A) 1857
(C) 1859

(B) 1858
(D) 1860

16. The doctrine of lapse is related to-
(A) Lord Dalhousie (B) Robert Clive
(C) Lord Minto (D) Lard Marley

17. The capital of Syria is-
(A) Damascus (Damishq) (B) Ulan Bator
(C) Lebanon (D) Iraq

18. Which state has the largest in tiger population?
(A) Madhya Pradesh  (B) Gujarat
(C) Rajasthan (D) Uttarakhand

19. Harappa is situated on the bank of which river?
(A) Ravi (B) Sutlej
(C) Beas (D) Indus

20. Alamgirpur, an archaeological site of the Indus
Valley Civilization, is located at-

(A) Meerut (B) Kanpur

(C) Varanasi (D) Jaunpur

21. Who among-the following was the Chairman of
the Constituent Assembly?

(A) Sardar Patel (B) Dr. Rajendra Prasad

(C) Jawaharlal Nehru (D) Dr. B. R. Ambedkar

22. Siachen glacier is situated in-
(A) Central Nepal Region (B) Kumaon-Garhwal range
(C) Pir Panjal range (D) Karakoram range

23. When was the ‘Morley-Minto Reforms’ Indian
Council Act passed?
(A) 1909
(C) 1906

(B) 1923
(D) 1912

12. f=foRag & ¥ ®19 @) 9€) 3R 9FR @ R%
gadr 27

(A) THeT (B) Ty

(C) URIR (D) SWRIh T

13. RGeS 9 fhg g A Rerq 87

(A) SS9 (B) 3rH

(C) SRETS (D) SIRIKH | | Bls el

14. 63 AR BT ISl Dol goic fhds 99T
fear?

(A) ARG <9TS (B) TTST ¥ RIS

(C) 3R, &. TYEH I (D) S HATS

15. Rd ¥ ST I fafewr a1 & ARy
fpar -

(A) 1857 (B) 1858

(C) 1859 (D) 1860

16. AT BT Rigr Gafaa 28—

(A) TS SeTaIo (B)RfeC dalrsa

(C) aTe fAver (D) TS HTet

17. NRAT B IS B—

(A) 3ffe (B) ST ¥dilR

(C) &1 (D) ST

18. fheg Tsg H STEN Y TS I AP B?
(A) 7eg g<9T (B) IO

(C) oI (D) STRIES

19. g9 5 ) & fHaR safera 87

(A) <Tdr (B) AT

(C) = (D) Rgg

20. f&g 911 GRIAT BT U YRITRad Il
ARG fRera 23—

(A) FRS H (B) IR H

(C) aRTORY H (D) SIFTgR |

21. ffoRad & 9@ Gfew™ 991 & 3ege oIF 97
(A) TRER Ucd (B) <. Xoivg U¥ATE
(C) STATERATA 8w (D) ©f. &) 3R IFdShR
22. REfE ifRRR # fRerd B

(A) Feg U & (B) THTSH—ITedTel Siofl
(C) 4R gsTrel of (D) PRTHRA 2yofY

23. Hicl—fiel YuRl' @1 9Rd aRkyg s em a9
uiRa favar T err?
(A) 1909
(C) 1906

(B) 1923
(D) 1912
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24. Who made Pataliputra the capital of Magadha
in his reign and created a small fort here?

(A) Kalashoka (B) Udayin

(C) Ajatashatru (D) Bimbisara

25. Most villages in India are more prone to
than other kinds of pollution.

(A) Water pollution (B) Radiation pollution
(C) Sound pollution (D) Air pollution

26. Which one of the following statements about
Fifteenth Finance Commission is correct?

(A) Fifteenth Finance Commission was appointed by
the Government of India in November 27, 2017.

(B) Sri N. K. Singh is its Chairman.

(C) The recommendations of the commission will
cover the five year period 2021-26.

(D) All of the above

27. Who fought Ahmad Shah Abdali at the third
battle of Panipat?
(A) Khiljis
(C) Lodhis

(B) Marathas
(D) Mughals

28. Which dynasty had its capital at Chittorgarh?
(A) Rathore (B) Hada
(C) Sisodia (D) Chauhan

29. Jantar Mantar in Delhi was built by Maharaja

(A) Bishan Singh (B) Ram Singh |
(C) Jai Singh Il of Jaipur (D) jai Singh | ofdJaipur

30. After.entering Bangladesh, the main branch of
the Ganges'is known as
(A) Padma river
(C) Jamuna river

(B) Meghna river
(D) Hooghly. river

31. The Simon Commission caused the death of
which Indian leader?

(A) Lala'LajpatRai

(B) Bal Gangadhar Tilak

(C) Keshav Rao Baliram Hedgewar

(D) All of the above

32. Is Morley Minto reform related?

(A) From Representative Muslim Election
(B) From the first Anglo-speaking election
(C) From the soft crew and the hot party

(D) All of the above

33. When was the East India Company formed?
(A) 1600 (B) 1602
(C) 1599 (D) 1598

24, fHE U ARSI ¥ UTeforgd & T B
RIS 991 3R F8F U BIeT fhar Fwmr?

VEARINIED (B) SaTRA

(OERIGKEN (D) faffgarR

25.MRT # 3fepier 7ig 1 H A 59 v aoig @
fifsa & wife e/ 9 ==

(A) STe UgyoT (B) fafeRoT UgHoT

(C) eaf= TguoT (D) aTg gy

26.Uged I I @ IR # fA=foRad & 9 @19
T HYF el 87

(A) 27 FTGER, 2017 BT YR IRBR gRT Uggd faa
AN B DI TS ot |

(B) N TA.®. Rig gaa& 3reuet 2|

(C) IMATT &7 RABIRTT 2021—26 & Ul 99 DHl-fafer
BT HIR BT |

(D) SWRIET |

27. IO & AR g ¥ STEAQ WS Aealell |
foa g5 favar ar?

(A) Reeroit (B) ARTST

(C) <Y (D) gt

28. 59 a3 A o R ® iR

(A) RIGIR (B) TTST

(C) Rrefem (D).=&TH

29. feeell 3 SiaHIR TeRIST ECINECE D)
AT AT |

(A) fem Rig

(B) X Rig g

(C) SR, & o177 gfad™

(D) SIEAR &1 Rz v
30. SFETRY ¥ Ua% A B qQ, T B J&I I1Em
Pl FT BT ST 87

(B) FET LT

(A) ggHT e
(C) STHAT T (D) gt <Y

31. 91599 HARE o AR a1 9 9g @
BN g7

(A) ST oIToTad T

(B) 9T TR faetd

(C) Derd T 9feR™ TSR

(D) SIRH |

32, #ict fier gurR wdfda 87

(A) B GRe™ frares afafiee 4
(B) I 3Miverard fateq &

(C) VT RH T 3IR TRA &1 4
(D) SIRH |

33. 3¢ SIS FHAT BT TS $H gaAT?
(A) 1600 (B) 1602
(C) 1599 (D) 1598
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34. Who addresses the first session of Parliament?
(A) Prime minister (B) President
(C) speaker (D) Lok Sabha Secretary

35. Which of the following statements is / are true
for Dr. Bhimrao Ambedkar?

(A) He was the then Law Minister of India

(B) He was the chairman of the drafting committee of
the Constituent Assembly

(C) He is also considered the father of the
Constitution of India.

(D) All of the above

36. The world's second largest ocean is-
(A) Arctic Ocean (B) Atlantic Ocean
(C) Pacific Ocean (D) Indian Ocean

37. Which one of the following options is true in the
National Parks of Himachal Pradesh?

(A) Pin Valley National Park

(B) Kheerganga National Park

(C) Great Himalayan National Park

(D) All of the above

38. Name of the major river flowing in Rajasthan is-
(A) Luni (B) The Ganges
(C) Yamuna (D) Godavari

39. Kathakali is a famous dance of which state?
(A) Karnataka (B) Kerala
(C) Tamil Nadu (D) Uttar Pradesh

40. Chhatrapati Shivaji is related to-
1. The Maratha Empire
2..Maharashtra

(A) only 1

(C) Both 1 and 2

(B) only 2
(D) None of these

41. Mahatma Gandhi elected as a president of
Indian National congress of Belgaum Summit, held
in ?
(A) 1926

(C) 1917

(B) 1924
(D) 1919

42. With reference to the Civil Administration in
1905. Which of the statements is/are correct?

1. Lord Curzon decided to rearrange the provincial
boundaries.

2. A new province was constituted, called East
Bengal and Assam.

Select the correct answer using the codes given
below:

(A) Only 1

(C) Both 1 and 2

(B) Only 2
(D) Neither 1 nor 2

34.99€ & YIH JRAY B P HIRT Har 87
(A) TEIT=TEY (B) RTegufey
(C) BT 3rexel (D) ArHAT Afea

35. for=foRad & & @9 91 HoF ©f. WiRE
g} @ fog w1 3 /87

(A) I8 WIRd & Teblel= BT 73l o

(B) a8 e wT @7 Uy AfAfa & areder o
(C) S= WRd & WL &1 Sd W AT 9T &
(D) SWRIH T

36. fa%g BT TERT HEA ST AERINR 8—
(A) ITbfeh HENR  (B) dfcddifed HENITR
(C) YR HETARR (D) &= #B™IIR

37. iR TRY & TS S ¥ W P A1 S
fdpeq W 87

(A) o Il 9 Ut

(B) WRIATT e UTh

(C) U fRHTeI -39 Ut

(D) SWRIh T

38. YT 989 dTell W T &1 93—

(A) <l (B) T

(C)FgT (D)-TETax

39. HYdell e IS BT ARG T 87
(A) DHlSD (BY BT

(C) ety (D) STR U

40. sFufa fRrar S Sefeg 8-
1. ARAST AT A

2 \WERTSS ¥

(A) Ppael 1 (B) BaeT 2

(C)1 T2 g N (D) 374 & P el

41. FEIT e 3T AN BidN B 9T
IMARF A STI GA A SN GY __ H goT
o |

(A) 1926 (B) 1924

(C) 1917 (D) 1919

gzggosﬁﬁqﬁaiﬁﬂaﬁﬁﬁﬂwww
/8°?

1. AfS Po o1 ki drel @1 gaedafked o
31 foofa foram |

2. U@ 711 Uid fea fosar &, o gdt 9me ek
3EH HET A B

Ao Ry Y B HT SN RS FE SR FAT:
(A) Daet 1 (B) BaaT 2

(C)1 @ 2 g (D) ar1 982
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43. The book, Satyartha Prakash was written by:
(A) Swami Pabhavananda

(B) Dayanand Saraswati

(C) Ramakrishan Paramhamsa

(D) Swami Vivekanand

44. Who among the following was NOT an extremist
leader of the Indian National Congress?

(A) Rahimtulla N Sayani

(B) Aswini Kumar Dutta

(C) CV Raghavachariar

(D) Chidambaram Pillai

45. Who among the following was the last Governor
General of Bengal?
(A) Lord Wellesley

(C) Warren Hastings

(B) Lord Canning
(D) William Bentinck

46. Who proposed the Vernacular Press Act?
(A) Lord Lawarence (B) Lord Dufferin
(C) Lord Lytton (D) Lord Canning

47. Which of the following was not done during
the time of Lord Curzon?

(A) Formation of Hunter Commission

(B) Establishment of the famine Commission

(C) Formation of Bhartiya Lok Seva Mandal

(D) Partition of Bengal

48. Who established the “Atmiya Sabha” a
precursor in the socio - religious reforms in Bengal?
(A) Aurobindo

(B) Raja Ram Mohan Roy

(C) Dayanand Saraswati

(D) Vivekanand

49. Panna National park is situated on the bank of
which of the following rivers?

(A) Chambal (B) Dhasan

(C) Ken (D) Hindon

50. The largest Union Territory of India'is ..............
(A) Ladakh

(B) Puducherry.

(C) Dadra and Nagar Haveli

(D) Andaman and Nicobar Islands

51. Jhum cultivation refers to ...............
(A) Jamun cultivation  (B) Shifting agriculture
(C) Step farming (D) Terrace farming

52. The study of earthquake is called:
(A) Seismology (B) Limnology
(C) Hydrology (D) Topology

53. Which among the following is the highest peak
of Western Ghats?
(A) Perumal Peak
(C) Anamudi Peak

(B) Agastya mala
(D) Nilgiri Peak

43. i |aret garer faae ganT fored i of:
(A) T gaTg (B) AT ARl
(C)HR™T WRHEH (D) WMl faderg

44. f=fafaad & 9 &9 IRAT I FiIU B
TGl =T T8 o7

(A) YEHded T, I (B) ¥l HAR Sl
(C) Y. 4. xrggery (D) RreERA fUeers

45. fA=faRag o 9 BT 9 @ 3ifH TaR
SRS 97

(A) TS Tt (B) AifS e

(C) AR BRI (D) faferm dfew

46. TSR U Yac &1 yid feae e en?
(A) dlS dRE (B) A SHRHA

(C) ofts fore (D) S B

47. TS SO & THI H | P AT P ol ganl
oIT?

(A) € JATATNT BT T3

(B) 31Tl ST I LAY

(C) IR _SlIh FdT Heal BT T+

(D) §7TIeT DI fa¥ToT

48. 9T H AT TG IRl & g
"I T B RATIAT

(A) 3fdE (B) XTSI XT| HIg 1™

(C) cuT=E AR (D) fadere

49. T, TIT ST 59 7 & d¢ W Rera &7
(A) T (B) &I

(C). B (D) f&=A

50. MRT DT e g7 Y IRIT TS oo gl
(A) eI

(B) ggoI

(C) TTER TG AR Bdell
(D) 3feA™ 3R PR T T8

51, 3 B Wl ... BT Hafia a2
(A) ST @7 Tl (B) RITIT=IRI |

(C) =RVT H (D) afeeT HiY
52.®HY & AT B T Hedl o°

(A) Rt (B) for=raitoi

(C) ETSSIATSH (D) SraTeiToT

53. U=l gIe # 999 a1 R = § 9 o
T 8?

(A) TeHe fIreR
(C) T RraR

(B) SR ATAT
(D) oY TR
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54. The Jaidapara National Park is situated in which
of the following Indian State?

(A) Assam (B) Manipur

(C) West Bengal (D) Uttarkhand

55. What is the approximate area of India (in million

Km?)?
(A) 3.6 (B) 4.35
(C)3.28 (D) 2.78

56. Where does the El — Nino current occur?
(A) On the coast of west Australia

(B) On the coast of Alaska

(C) On the coast of Peru

(D) On the coast of Brazil

57. Sahastradhara falls is located in which of the
following states of India?

(A) Uttrakhand (B) Sikkim

(C) Jammu Kashmir (D) Himachal Pradesh

58. Umananda Island is situated in the Indian state

(A) Madhya Pradesh  (B) Uttar Pradesh
(C) Arunachal Pradesh (D) Assam

59. Which of the following rivers is an east flowing
river of the Indian peninsula?

(A) Narmada (B) Tapti

(C) Mahanadi (D) None of the above

60. The Coldest Place in India is .............s
(A) Drass (B) Tawang
(C) Keylong (D) Leh

61: which of the following is /are a method of soil
conservation?
(A) Mulching

(C) Strip cropping

(B) Crop rotation
(D) All of the above

62. The correct match is-

1 Donga a Mizoram

2 | Snake boatraces | b Gujarat

3 White Desert c | Jammu & Kashmir

4 | Lotterty farming | d Kerela

(A) 1-c, 2-d, 3-b, 4-a
(B) 1-c, 2-b, 3-d, 4-a
(C) 1-d, 2-b, 3-c, 4-a
(D) 1-b, 2-d, 3-c, 4-a

54, STAQTIRT I IqaH frfeied wRd =t
¥ A g F Rea &7
(B) AR

(A) 3/
(C) uf¥eH et (D) ScRTE'S

55. YRd &1 SAIa &awal (fAferaa ot &) aar
4

(A) 3.6 (B) 4.35

(C) 3.28 (D) 2.78

56. U1 A9l SToTaIRT daf W ufed axdt 27
(A) uf¥em I forT & de R

(B) TTTR®T & A WX

()% & T W

(D) STl & T WR

57. YEIRT S99 9Rd & A4 § 9 g =g
4 Rer &7

(A) SRTES (B) Rafams

(C) 51/ CREIN (D) femTarer e

58. SAMT FATT HIRCT. 0T s # Rerd 81
(A) 7T g<eT (B) STR U<gr

(C) IrevTEIeT UaeT (D) 3rTH

59, fAfeifRea Afedt 4 W - 1e g4 AR

YRIGAY &1 AT 89

(A) THaT (B) dI=T
(VEEEE (D) 9 ¥ PIs &l
60. ¥Rd ¥ FaQ ST WA ... =

(A) &I (B) @i

(C) BT (D) oi®

g1%ﬁﬂﬁr®aﬁﬁﬁ=r—wﬁ@ﬂ?mmaﬁzﬁr
/

(A) GeTdR (B) BT =Ish

(C) BI & HIcTs (D) SURIGT a4

62.

1 | sfm % | feiA

2 | wd e e g | R

3 | 9wg RaE T | o9 3R R
4 | e o Wl q | dee

(A)1-7T, 2-9, 3-, 4-&
(B)1-T, 2-%, 3-°, 4-&
(C)1-°, 2-%, 3-, 4-&
(D)1-, 2-9, 3-7, 4-&
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63. Which of the following statements is correct?
(A) Soil help forests to grow and regenerate.

(B) Plants and Animals in a forest are dependent on
one another.

(C) Forests Protect the soil from erosion.

(D) All of the above

64 . consider the statements regarding Asan
Conservation Reserve:

1. It is declared as the Ramsar site.

2. It is situated in the Nagaon district of Assam.
(A) only 1 (B) only 2

(C) Both1and 2 (D) Neither 1 nor 2]

65. Which among the above statements is /are
correct?

(A) Badkhal Lake — Faridabad

(B) Tilyar Lake — Rohtak

(C) Damdama Lake — Gurugram

(D) Surajkund Lake - Kurukshetra

66. Pin Valley National Park is located in which state
of India?

(A) Gujarat (B) Punjab

(C) Jammu & Kashmir (D) Himachal Pradesh

67. In Thar region, the shifting sand dunes are
locally known as
(A) Dhaya
(C) Daurs

(B) Dhoros
(D) Dhrian

68. Which one of the following pairs of islands is
separated from each other by the ‘Ten Degree
Channel’?

(A) Sumatra and Java

(B) Maldives and Lakshwadweep

(C) Nicobar.and Sumatra

(D) Andaman and Nicobar

63. fAmferlRaa & & #19 &1 FuT T 87

(A) FRET STl BT 9g4 IR gASifad & # A8a
P 2|
%B)Qzﬁaﬁmﬁtﬁﬁaﬁqugﬂ%wﬁﬁ?

[
(C) T g &1 derd I g9 2 |
(D) SWRIFT Y

64. ITFT HolgIF Rod § Feftg oMl «)® AR
1.3'\EIIWQTI?;E$W1§H’I'@HWW%I
2. I8 99 & AnTig ol 7 Rerg 21

(A) el 1 (B) BaeT 2

(C)1 3R 2 T (D)9 1 3R 9 &I 2

65. fFr=foRag & 9 @19 91 ST 98 7 I Ad
& @ rar 87

(A) IS8T S—HIardrs

(B) feeerR ha—ed®

(C) THEHT SNT—TwU™

(D) IRSIHE Set—qers

66. 0 a1t WY STIH IRA @ e g #
fRer 87 :

(A) TSI (B) GsITd

(C) @R ¥R (D) fewrare, uew

67.9R &7 ¥ Rt Xd & Al B @I 97T
¥ f5a /™ | W1 Srar 82

(A) GTaT (B) TR

(C) < (D) aRa=

68. Frfaifaa § & &9 &1 vo gaIdl &1 g <9
o srefy (e fooft a71er) <amT o A
e fhar T 87

(A) AT IR SET - (B) ATAITRId 3iR SleTgdry
(€) MR 3R AT (D) JAvTSHM AR MHER

69. A — 1% A YAl - BT A BV &R
69. Match List with List— Il and select the correct % Wi QY 1Y IS T START R |
answer using the codes given below the lists: ST ﬂﬁq:
Liet — I (Lake) Liet — Il (Location) - T -
A. Tsomgo Lake 1. Sikkim A. < AT 3 1. Ffep
B. Badkhal Lake 2. Haryana B. §S@d N 2. BT
C. Loktak Lake 3. Manipuri C. Aipdd I 3. AP
D. Kaliveli Lake 4. Tamil Nadu D. DIaaeT ot 2. T‘Iﬁl?ﬁl‘@

(A) (A) 1, (B)4, (C) 2, (D)3
(B) (A)1,(B)3.(C) 2, (D) 4
(C)(A)2,(B)1,(C) 3, (D) 4
(D) (A)1,(B) 2,(C)3.(D) 4

70. Among the following Tiger Reserves, Which one
has the largest area under “Critical Tiger Habitat”?
(A) Sunderbans (B) Nagarjunsagar — Srisailam
(C) Ranthambore (D) Corbett

(A) (A) 1, (B)4,(C)2,(D)3
(B) (A) 1,(B) 3.(C) 2, (D) 4
(C)(A)2,(B)1,(C) 3, (D) 4
(D) (A)1,(B) 2,(C) 3. (D) 4

70. fFferRaa s1gr Rord § 9§, "fhfedd <R

tfice” & deqd 9ed 991 &7 S 41 87
(A) g4 (B) T TR —$RT T
(C) RoTR (D) ide
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71. Which one of the following has the largest
population in a food chain?

(A) Decomposers

(B) Primary Consumers

(C) Secondary Consumers

(D) None of the above

72. Which of the following ecological pyramid is
always upright?

(A) Pyramid of detritivores

(B) Pyramid of number

(C) Pyramid of energy

(D) Pyramid of bio - mass

73. The maintenance of equilibrium in an Ecosystem
is known as:
(A) Ecotone
(C) Ecosphere

(B) Ecological niche
(D) Ecological balance

74. ‘Biosphere Reserves’ are most appropriately
described as:

(A) Sites affected by deforestation

(B) Learning sites for sustainable development
(C) Mineral deficient reserves

(D) Bio — gas production sites

75. Which of the following pairs is/are correctly

71. fAfafed 4 @ fhaa @y o # 994
I ST 27

(A) TTECH (B) UTIfies SUHTeRT

(C) Tfacie sroviaaT (D) SWRIGd H A BIg el

72. fF=fafaag § 9 &9 a1 sRRefde fiRifes
A9 ¥er B 87

(A) Sfefears & fUxifae (B) A=t &1 foRifis
(C) ol &1 fRifAre D ERIGIREIRENIES

73. U UIRReIfe o7 # \rITael & STReT0T &l
foa wg § ST SITar 87

(A) hIE (B) utRRerfaed wHar

(C) sPIRHIR (D) TTRRerfda@ dger

74. SARHRR R4 / Saavsa Feg) 999
Iugad wu H fHa forg aftfa €7

(A) TF1 B HeTs I g4I I

(B) ad farg & foru W &) Siie

(C) @S BT BHI BT HSR

(D) SII—1 =T I

75. Preforied & & B /A T W SN F Al
& T /e |

matched. Eol RLE ISl T €

S C i Related ikl

I\Iro. onventions | Related to 1 et wusidl  @deiia W P

1 Stockholm Transboundary Movements of R ge
Convention | Hazardous Wa‘;tes 2 e FHS il FEfD EEAED (tﬁ

2 Basel Persistent Organic Pollutants aﬁ[ﬁ)
Convention | (POPs) 3. T Tt IRT

3 Minamata Mercury
Convention (A) BaT 1 (B) dadt 3

(A) 1 Only (B) 3 Only (C) ®aet 1 3iR 2 (D) ®aet 2 3R 3

(C) Both 1 and 2 (D) Both2 and 3

76. Which of the following are responsible for acid
rains formation?
(A) CO, & NO;
(C) SO, & NO,

(B) CO & CO,
(D) CO, & N,0

77. Which one the following is /are a reason of
decrease in biodiversity?

(A) Encroachment in forest areas

(B) Exploitation of forest produce

(C) Large scale deforestation

(D) All of the above

78. Which one of the following /are a cause of
depletion in groundwater?

(A) Construction of large scale concrete buildings
(B) Excessive Pumping of ground — water

(C) Loss of forests

(D) all of the above

76. 37T T8 & ST @ forg f=falRed & 9 a9
e &7

(A) CO, 3R NO,
(C) SO,3IR NO,

77. F=foiRaa & 9 @19 99 fafdear § &9 @1
PR &7

(A) a9 &= # arfaspaoT

(B) IITIST T NS0T

(C) 8 TN W T
(D) SURTRT Y

78. 7 # | 99 A1 Yo RaidRIT BT HRT &7
(A) TS UM W Peblc BT SARG BT 4707

(B) —STeT &1 ARNE qred

(C) T+t @1 erfa

(D) SURTRT Y

(B) CO 3iR CO,
(D) CO, 3R N,0
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79. which of the following pairs is correelly
matched?

(A) Kaziranga: One — horned rhinos

(B) Dalma Hills: Wild elephants

(C) Bhitarkanika: Olive ridley turtles

(D) all of the above

80. The house parliament can declare the seat
vacant of the member in question, if he absents
himself for how many days from all meetings of the
house?

79. fFr=foRaa & | @19 |1 SeT 98 WP | A
QT 87

(A) BTSIRIT: Th GIRT arer fsT

(B) T feedd: SivTell srefl

(C) PreRef~eT: 3fifora Rsel Hyu

(D) SURTRT Y

80. §HE PT WA fHdl dew o1 Hie & Ra
NNT &R IHal 8, I 98 Fad @ I 331 F

(A) 70 (B) 60 o faAl d& erguferd I&am 87
(C) 50 (D) 45 (A) 70 (B) 60
C) 50 D) 45
81. Match List — | with List — Il and select the correct © (D)
answer using the codes given below the lists: ﬁﬁfgﬁ -1 G ﬁ%ﬁ — 11T Fre AR iR
List — I (Article List — Il (Provision) T-ﬁ%l faw T Pre FT ST XD HE
A. Article 61 1. Removal of Deputy \3‘1‘4
Chairman of Rajya Sabha
B. Article 67 (b) 2. Impeachment of g - | (313) g - I
i President _ A. 3T 61 1. X159 |1 $ SURYE Bl Il
C. Article 94 3.Re!'noval of Vice - B. ST{®% 67 @) | 2. xrcufy @1 AETRE
President e
D. Article 90 4. Removal of Speaker C. 3BT 94 3. SIRISURT B FSHI
(A)A)4,B)1,C)3,D)2 (B)A)2,B)3,C)4,D)1 D. 3BT 90 4.FPY BISCH]

(C)A)3,B)2,C)4,D)1 (D)A)2,B)4,C)3,D)1

82. Which one of the following is NOT correctly
matched?

(A)A)4,B)1,C)3,D)2
(C)A)3,B)2,C)4,D)1

82 fFr=faRa & & I w1 9817 9 AT a8
PCT B2

(B)A)2,B)3,C)4,D) 1
(D) A)2,B)4,C)3,D)1

a. Fundamental Duties partIVA
b. The States Part VI
c. Attorney General of Part XllI
India

d. Services under the Part XIV
Union and States

(A) D (B) C

(C)B (D) A

83. Which of the following is NOT possible by a law
of Parliament under Article 3" of the Constitution?
(A) Admission of new States

(B) Alternation of boundaries of States

(C) Alteration of areas of States

(D) Formation of new States

84. Which of the following is NOT correctly
matched?

a. Hifeld HdT HRT IV T
b. XTI qTRT VI
CHRA & Hergrgdral HqRT Xl
d. Y 3R I P IE QA | W XIV
(A)D (B) C

(C)B (D)A

83. fF=forRad & | &9 91 |8 &7 9 ¥ 7Tl
P 27

(A) T TSI} BT Yd9T

(B) T 1 RN BT fadmeq

(C) ™t & &l &1 gRdaaH

(D) AV XTSAT BT TS

84. fFr=forRag & 9 &9 92 <7 9 A &1 @rar

(a) Public Health and Sanitation Union List e
(b) Agriculture State List :
(C) Provisions of T .
the president, Governors of States, ) W IR el NIk _‘qﬁ
Speaker and the Deputy Speaker of (b) BN Sl
the House of the People and the Second (1) ITeUfd, IS B XTSAyTel,
Chairman and the Deputy Chairman | Schedule et 3R ol 9T  SUTETe w W
of the Council of States T g
(d) Anti — Defection Tenth 3R SUTEgE LICEIS)

Schedule (d) IE-Temhar™ Al ST
(A)D (B)C (A)D (B)C
(O): (D) A (c)B (D) A
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85. Which one of the following is NOT correctly
matched?

(A) Article 48 — Separation of Judiciary from
Executive

(B) Article 44 — Uniform Civil Code

(C) Article 40 — Organisation of Village Panchayats
(D) Article 39 — Equal Justice and free legal aid

86. In which of the following ‘the provisions for the
protection and improvement of environment and
safeguarding of forests and wildlife’ are found in
the Constitution in India?

1. Only in the directive principles of state policies

2. Only in the fundamental duties

(A) Only 1 (B) Only 2

(C) Both1and 2 (D) Neither 1 nor 2

87. Which of the following temples has
Panchayatana Style of architechture?
(A) Kashi Vishwanath Temple

(B) Brihadeshwara Temple

(C) Sun Temple

(D) Dashavatara Temple

88. The patachitra of Orissa depicts stories from
which famous poems?
1. Agnipath

2. Geet Govind

(A) Only 1

(C) Both 1 and 2

(B) Only 2
(D) Neither 1 nor 2

89. Which of the following is correct about
Madhubani Paintings?

1. It belongs to Bihar.

2. It includes geometrical patterns, floral, animal,
and bird motifs.

3. The colours from natural.extracts from plants and
other natural sources are used.

(A) 1 and2 Only (B) 2 and3.0nly

(C) 2and 3:Only (D)4, 2 and 3all

90. ‘Ottamthullal’ is a'dance associated with the
state of:

(A) Manipur
(€) Tamil. Nadu

(B) Andhra Pradesh
(D) Kerala

91. Which:of the following temples is also known as
Khajuraho of Vidarbha?
(A) Bhimashankar

(C) Kailash

(B) Manudevi
(D) Markandeshwar

92. Which of the following of the following are the
examples of the oldest surviving rock — cut caves in
India?

(A) Barabar caves
(C) Elephanta caves

(B) Ajanta caves
(D) Elephanta caves

93. Which of the following statements is /are
correct about the Ashokan Pillars?

1. The shafts were monolithic,

2. They were mainly inscribed of the Limestones.
(A) 1 Only (B) 2 Only

(C) Both 1 and 2 (D) Neither 1 nor 2

85. fAmferRag & § &9 &1 e 9 78 87
(A) T 48—HTIUTIIDRT I ~ATIUTITRT BT
GOIqh U

(B) ITITIE 44— T ANTRS w2

(C) ITT8T 40—UTH Y= BT HIS

(D) 3rJede 39 U—HT =TI AR U DI
AETIT

86. FforRad & @ &9 &1 ‘Ra # 947 iR

ol B HRRIT SR ITERoT Bl IR w=eror
P JouE IR dfey § g -4

1. pad I N & fAdue Rigral o

2. ®qd Aifeld Haal §

(A) DI 1 (B) dadt 2
()R @ s« (D)Far1 982

87. ffafaa # & &9 iR 3 argeder &1
oraae del &7
(A) BT faearer R (B) g8avar Hfew

(C) T wfer (D) <eMadR HfdR

88. IS & Usfaa # e ulig sfaare ot
FEl=ar 87

1. 3T 2 AMamfa=

(A) DI 1 (B) Bael 2

(€) (1) Re@pa=r (D) ar1 782

89. g?ﬁamfr%aﬁﬁﬁﬂmaﬁﬁaﬁﬁ
ar .

1. I8 fER 3 9=t 21

2. 3 SRR W0, Y] 3R Uell wuidHl ol
sfAer fbar Tare

3. TNF ok, P TR B @ TR o Q

[ B SYRET fhar ST g |

(A)®HaT 1 3R 2 (B) pacT 2 3R 3

(C)Badt 1 3R 3 (D)1, 2 3R 3 &
g.'@éw’@ﬂ?ﬂ%vﬁ%ﬂwﬁwﬂﬁ
(A) HRTGR (8) arfer Wl

(Q) S (D) B

91. fFrfolRed # & fw dfer @ faeet &1 @gRmE
@ ®U A A ST e 87

(A) HTHIDR (B) <

(C) Detre (D)

92, ffaflad # & &9 Wk § w9 gRT
SABRId | & ST 87

(A) IRTER BT [HIV
(C) URST®HeT @1 THTY

93. fAmferRad & ¥ HH—T FUT INd Wl &
IR § GE 8/E?

1'% Wg@@’i’}l IR

2. Y TR |
(A)ff%grl1 o (B) I 2

(C)1 3R 2 < (D)Far1 3R T & 2

(B) 3rsidT @l THBIY
(D) H=8 1Y
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94. Which of the following statements is/are correct
about Shehnai?

1. It has five holes along the tube which are used for
playing the melody.

2. Ustad Bismillah Khan is credited for popularizing
this instrument.
(A) 1 Only

(C) Both1and 2

(B) 2 Only
(D) Neither 1 nor 2

95. Which of the following statements is/are correct
about Bharatnatyam?

1. It is known to be Ekaharya.

2. The style was kept alive by the Devadasis.

(A) 1 Only (B) 2 Only

(C) Both1and 2 (D) Neither 1 nor 2

96. Which of the following indicators is/are used to
calculate Human Development Index (HDI)?

(A) Per Capital Income (B) Education

(C) Life Expectancy (D) All of the above

97. Which of the following statements is/are correct
regarding New Education Policy 2020.

(A) Ensuring Universal Access at all Levels of
schooling from pre — Primary school to Grade 12.

(B) Early Childhood Care and Education (ECCE) should
be from age 3.

(C) Ministry of HRD re — designed as the Ministry of
Education (MoE)

(D) All of the above

98. Consider the following pairs.

S. NO | Concept Uses

1. GDP It shows the achievements of the
economy:in the:area of research
and developments.

%mygﬁ%aﬁﬁﬁﬂ%@ﬁﬁﬁﬁﬁ—ww
/8?

1. S99 el ¥ U B B & NED1 SYART 0T
oI fobar S €1

2. SwE fARAe® @M o 39 91gy I B

BT g9 BT Y AT S 2
(A) DI 1 (B) HaeT 2
(C)1 3R 2 T (D) ar 1982

95. IRA9ICIH & IR # fAfoiad § ¥ da—-ar
U WAl B/8?

1. 39 ell BT TSIl FART SHfad @1 17 o7 |
2. 8 UHIEN & AW | ST ofar 21

(A) DaaT 1 (B) dadt 2

(C)1 3R 2 T (D) ar 192

96. AT fAHT GADHI® (HDI) B TOFT TR D
for frfoRad & 9 59 Fpde &1 SUANT T8
forar <irar 87

(A) STas gamem (B) f3rem

(C) ufaT gt 3 (D) STRTT Y

97. 5 Rrem Y 2020 & Fey # fFforiad | |
B AT P AL /|

(A) IS Thel | TS 12 TH i B T4
R aNid vaad gHEad e |

(B) MRMTeh TedTaRell qw@dret SR e (ECCE) 3 ay
@3 | T ARy

(C) Ari@ F9Te= fdebrT Harera Riem §31era (MoE)

2. NDP It is used by.the IMF in the
comparative analyses of its
member nations.
3. GNP It is the more exhaustive concept
of national income than the GDP
(A) Only 1 (B) Only 2
(C) Only 3 (D) None of the above

99. Which of the following methods has/have been
used to estimate poverty in India?

(A) Per Capita Income

(B) Household Comsumption Expenditure

(C) Calorie intake

(D) All of the above

@ WY H B I IR far T 2|

(D) SURIGT |

98. fFr=ferRaa Sirel R fIaR #ifvTg |

% |, Hoeu ST

9,

1. el | I gy IR Ao @ &9 |
g@ima@ﬂa%waﬁm‘fﬁasﬁm
|

2. | TS wwmm
e T & JATTD [+
fora wimaT 2

3. | SIgAdl | I8 Fhd ERe SUE Dl gorl A
I I B e fawga
JTYROT B

(A) ®de 1 (B) dadT 2

(C) daet 3 (D) SWRIGd # | ®Ig &l

99. WIRA ¥ Tl BT A M & forg
fereferfaa & @ fba ugfa @1 ST fdar mar 87

(A) Ifa fda oMy (B) w p|
100. Which of the following is a tertiary economic (C) HARY BT HaT (D) 41
activity? .
(C) Farming (D) Weaving fafafyr 8?2

(A) I (B) @UR

(C) wrehr (D) gTTE

Head Office: 103, 1* floor, B/1-2, Ansal Building behind UCO Bank, Dr. Mukherjee Nagar, Delhi-110009.
Branches: Lucknow (UP) 7235808540, Orai (UP) 7235808597, Mukherjee Nagar (Delhi) 7042496042
www.galaxyclasses.co.in

50



http://www.galaxyclasses.co.in/

ANSWER KEY
1.(D) 2. (B) 3.0) | 4.(D) | 5.(D)
6. (D) 7.(C) 8.(C) 9.(A) | 10.(D)
11.(D) | 12.(D) | 13.(A) | 14.(C) | 15.(B)
16.(A) | 17.(A) | 18.(A) | 19.(A) | 20.(A)
21.(B) | 22.(D) | 23.(A) | 24.(B) | 25.(A)
26.(D) | 27.(B) | 28.(c) | 29.(C) | 30.(A)
31.(A) | 32.(A) | 33.(A) | 34.(B) | 35.(D)
36.(B) | 37.(D) | 38.(A) | 39.(B) | 40.(C)
41.(B) | 42.(c) | 43.(8) | 44.(A) | 45.(C)
46.(C) | 47.(A) | 48.(B) | 49.(C) | 50.(A)
51.(B) | 52.(A) | 53.(C) | 54.(C) | 55.(C)
56.(C) | 57.(A) | 58.(D) | 59.(C) | 60.(A)
61.(D) | 62.(A) | 63.(D) | 64.(A) | 65.(D)
66.(D) | 67.(D) | 68.(D) | 69.(D) | 70.(B)
71.(A) | 72.(c) | 73.(D) | 74.(B) | 75.(B)
76.(C) | 77.(D) | 78.(D) | 79.(D) | 8o0.(B)
81.(B) | 82.(B) | 83.(A) | 84.(D) | 85.(A)
86.(C) | 87.(D) | 88.(B) | 89.(D) | 90.(D)
91.(D) | 92.(A) | 93.(A) | 94.(B) | 95.(C)
96.(D) | 97.(D) | 98.(C) | 99.(D) | 100.(B)
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